. The practice of recording depreciation is due to which of the following concept :

(1) Money measurement concept (2) Entity concept

(3) Going concern concept (4) Matching concept
ﬁaﬁ%ﬂwwawmﬁﬂﬁﬁmmw“ﬂ%w%?
(1) 997 A HahedT (2) FHE IEYRT

(3) SR Fae SEERT (4) P @ araeTeT

Set of marketing tools that a firm uses to pursue its marketing objectives in a target

market is called : v )

" (1) Product mix | s (2) Marketing mix ,

| (3) Promotion mix , L (4) All of the above -
mm@aesﬁ@awwﬁmﬁﬁwﬂaﬁs@aﬁaﬁ

ToH a‘; R SqERT A T, S§ FeT I S :

(1) Icars T : '* (2 1%4-crtr]=r feysroT

(3) g e (4) Sugar |/

After reissuing all forfeited shares, the credit balance remaining in forfeited share

account, is transferred to : ' : '

(1) Capital Reserve (2) General Reserve

(3) Share Capital Account ' (4) None of the above

Hﬁﬂﬁ%ﬁaﬁﬁﬁﬁﬁfﬂﬂ@fﬁrﬁmﬁ%aﬁ aﬁﬁﬁm@%ﬁﬁrﬂrw

5 R B mﬁﬁﬁ fopaT ST ® : )

(1) g7 B (2) I aﬁw

(3) e ot (@) swdww # @ W

. .In an orgamsatlon regarding partlcular batch the rejection rate found was 6% against
the set standard of 4%. The management found that it was due to the negligence of
quality control staff. Which step of the controlling process is referred here ?

(1) Measurement of actual performance

| (2) Analysmg dev1at10ns
(3) Comparing actual performance with standards

“ Takmg corrective measure . : ' AL

R MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(A) - b P.T.O.
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) >
| %ﬁw,ﬁa%aﬁﬁwﬁ’mﬁaﬂzﬁiﬁ'ﬁ4%%ﬁ”m %%W
6% of, Wm%wh;aamﬁuwmaﬁd'“
mlﬁ‘a‘srwnﬁsm%ﬁmawa%qﬁﬁﬂﬁﬁﬁWTW%?
(1) arifes g=st= @1 s '
2) e @ Rediyoy ' :
| (3)qmzﬁr%wwﬁm:mh-ﬁgemrm
(4) SIS SURT spry
+ 8. Kaizen costihg is applied to a
(1) Produced °
(3) Sold

product that is : -
- (2) Ready for sale |
_ (4) Under process for production
AT A TF Qg1 Y, R o @ |
(1) SwiRe | - Q) T B R Y
Q) T L (4) ST 9tpar & arefi
6. Dividing the market on the basis of personality of consumers is a part of ;
(1) -Demographic segmentation (2) Geographical segmentation
3) Psychographic segmentation (4) Behavioural segmentation

aqﬁwaﬁ%aﬁaa%aﬂmwwﬁﬁmﬁamww%:

7. Working capital Rs, 6,30,000, curfent assets Rs. 8,40,000 and inve

ntory is Rs.4,00,000
(including loose tools of Rs, 1,05,000), what will be the current rati '

0?

/8- Which of the following is not a feéture’of services ? ',
(1) Perishability (2) Inseparability

(3) Homogeneity - (4) None of the above -
PR % & BT ot A Rl 2 d 7

(1) sfRer (2) wAferrsean’ -
(3) THEIAT | ‘ | (4)3@25#%@%3&' ,

MPE/PHD/URS-EE-2019/(Commerce)(sET. /()
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Lo = (‘/ L -
G /,/f,/fi* % %K%«*/’“

X and Y are partners sharing profits and losses in the ratio of 3:2. Z is admitt§d for }/ 5th
share, which he gets equally from X and Y. What will be the new profit sharing ratio ?

(1) 5:3:2 (2) 6:2:4 (3). 5:4:2 (4) 4:3:2

XaﬁTY3:2%agmaﬁwaﬁTaﬁmmﬁqﬁa@m%|Za€rl/s.

mwamﬁ%mmm%lﬁraﬁxaﬁryaw
T W WIS A A e f , |

(1) 5:3:22 2) 6:2:4 (3) 5:4:2 4) 4:3:2

Which of the following allowances are partly taxable under Income Tax Act ?

(1) Special compensatory all;_iwance (2) Children education allowance

(3) House Rent allowance . (4). All of the above S
ﬁwﬁmﬁ%aﬁﬂ—meaﬂwaW%aﬁaﬁmmamm
T? O ' P E

(1) Bdw ofqRs = (2) =4t v fRre w

(3) FE fRYET |l Y, (4) Suder |+t

Panchayats in India have been given the powéfs by the Govt. to decide and spend funds
granted to them for the welfare of Villages. Which principle of management is

=g q foerar B

“highlighted in the above statement ?

(1) Unity of direction ~_~_ (2) Division of work

(3) Unity of command , (4) Centralization and Decentralization
%ﬁﬁﬁaﬁaﬁmﬁ‘ﬁ@\ﬁﬁaﬁﬁumﬁwmmﬁnﬁm-
> fpg R OX Sl SR TR T :
(1) e @t gehel ' @) B -H R

(3) oTrReT T T L () e o AT

From the following information, identify the firm having least liquidity :
(D Current ratio : 2.2 and Quick ratio: 1.6 . ‘
(2) Current ratio : 2.2 and Quick ratio : 1.3

(3) Current ratio : 1.2 and Quick ratio : 0.6

(4) Current ratio : 1.2 and Quick ratio : 0.8 ,
WW%W%WWﬁﬁﬁ'WﬁA

(1) =g ergara : 2.2-80R% @Ra erga ¢ 1.6 -

(2) =g oTga : 2.2 8% @Rd. oA ;1.3

(3) =, ST : 1.2 R @i o1ga ¢ 0.6

(4) =g A @ 1.2 X @Ra Frgard 0.8

MPH/PHD/URS—EE-Z01,9/(Commerce)(SET—Z)/(A)' ey e st OTiP ey
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A
4 — .
: mmodi
Ja. If the price of any commodity decreases by 20% and the demand of that commc ty
increases by 40%, then elasticity of demand would be :
(1) Unit elastic (2) Highly elastic

(3) Poorly elastic (4) None of the above )
Rk Rt anel (T%Q) B BT 20% P @ ® olw ww awg H AT 40%
aaaﬁ%laﬁrﬁmﬁaﬁam | | |

-

(1) gh18 T=ErR ‘ (2) S=a TR
(3) 3@ AR @) ovde ¥ A @

14. Debt-Equity mix in capital structure is relevant according to which of the following -
approach ?

(1) Net Income Approach

(2) Net Operating Income Approach
(3) M & M approach' -

4) None of the above

ﬁmﬁ.mwﬁwﬁmﬁﬂ@aﬁ@mm%aﬁaﬁ'

g 3 7 ; |
(1) g= I giRehoT ' (2)§a'qﬁ%m=ram§&zﬁvr
(3)@@?@5% , (4)wﬁwﬁﬁﬁéﬂﬁ
15. Low geared company-will not expose to which of the following risk ?
(1) Business risk " (2 Operatmg risk
(3) Inflationrisk @ F1nanc1al risk
ahﬁwémﬁﬁwmasﬁmﬁﬁm%ﬁif@ﬁ TFeT oy ?
(1) =R shfes (2) wRemeE SR
(3) FETEPITT &1 SfaH « - (4) g SRgw
jﬁ{ Cash flows arising from the transactlons in a bank should be clas51ﬁed as resulting
from :
(1) Financing activities . : (2) Investing activities
. (3) Operating activities N0 None of the above °
%ﬁﬁ—%ﬁméﬁmﬁﬁmﬁaﬂ%mmﬁwm
STET =nfed )
(1), it wififafe () PR TRk | o
(3)qﬁma?fﬂ1%rﬁﬁnﬁ o (4)@%13%@%3-&

MPH/PHD/URS-EE-Z019/(Commerce)(SET-Z)/(A)

Scanned by CamScanner



A

17.

19.

- (1) Divisional organisation

In case of admission of a partner, the entry for unrecorded investment will be :
(I) Dr. Revaluation A/c and Cr. Investment A/c
(2) Dr. Investment A/c and Cr. Revaluation A/c

~ (3) Dr. Partners' Capital A/c and Cr. Investment A/c

(4) None of the above

Th ARieR & S49T % Ama 7 B Faw feg g fRer @ ofafe &6 -
(1) IER gAHEIHT TR qd A9eK Fasr @ran

(2) IR PR AT 0 ATER GAHEAH @
(3)ngﬁ@mwmﬁ%m@m

(4) IR F q P AL *

Grouping of activities on the basis of product lines is a part of :
(2) Functional organisation

(3) Autonomous organisation . (4) Group organisation

IR A B SR UX MRIARET H G9g ST o e

(1) Sl & & (2) FATHS TS A

(3) = dTed B L () wE e @

Under which of the following trammg methods, employees are trained on the dummy '
model : e e g

(1) Induction training : (2) Internship training

(3) Apprenticeship tralmng (4) Vestibule training-

ﬁwﬁ%mnﬁwqﬁ%aﬁmﬁﬁaﬁsﬁmwmm
Sar g 7

(1) STRf¥h Hﬁm"r | | §O) gesiRmg wfrEreT
" (3) wfRwegaT ST | “(4) THS TTRTETOT.
}0. Which of the following is a method of di;ect marketing ?
(1) Fliers (2) Phone call;
(3 ) Text messages : (4) All jof the above
Praffaa & & -G goer Rgee 1 o A § 2
() wmEE (2) S A
(3) T waw 4) ST ad
_MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(A) . L o B KIPETEO
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21.

22,

When a firm is able to sel] more quantity of output at the same price, then ?

(1) AR<MR (2) AR>MR -
- (3) AR=MR | (4) None of the above

IR G L 1 L £ e e S A O O
(1) AR <MR ~ (2) AR>MR
(3) AR=MR | (4)aqﬂaaﬁaaﬁé=r€f
Which of the followmg is Ob_]CCthe of tax planning ?

- (1).Tocurb tax evasion : (2) Shield against high taxation .
(3) Avoidance of litigation. - . (4) All of the above .

2.

ﬁﬂﬁf@aﬁ%ﬁwaﬂﬁﬁaﬁrmﬁw%?f
(l)aa—{ih'frqweﬁgﬂﬁvﬁ%%q (Z)Bﬁrmﬁ%@'ﬁmm
Q) gFAEST § = g (4) SURRT gaf

Foreign mcome received. and accrued outside India from a profession setup outside
Indxa will be taxable : . Sl '

- (1) _F or Resident only

(2) For Residént and Non-Resident only
(3) For Resident and Not ordinarily resident only

. 4) For Non-Resident only

TRd B AR iz ?ré’laT qeo & 9RT F AR IR i @ T R
(1) Fas Fah & R i

(2) fFErt i} awﬁa@q %R
(3)W%W®TWWM%WﬁHﬁ

(4) B PR S R - 5
From which of the following countries the FDI inflows in India is hlghest ?

(1) UK -~ (2), France - (3) USA - (4) Mauritius

ﬁraf%fﬁgﬁﬁfﬁﬁm%ﬂ@rmﬁﬁmlwigmaﬁﬁas%?
(1) go &o . (2) Wi - - (3) o wHo wo (4) wiReE

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(A)
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25 Who is the chief Econon‘llst of International Monetary Fund ?
(1) Raghuram Rajan (2) Gita Gopinath
(3) Arvind Kumar . (4) Shaktikant Das
aﬁﬁ‘?ﬁq@ﬁq%g@aéﬁnﬁﬁzﬁﬂ%?
(1) IR =1 - ® e AR
. (3) &R AR © (4) wfFTERR aTE
}é. Kinked demand curve explains :
(1) Price flexibility » " (2) Demand rigidity
(3) Price rigidity : (4) Demand flexibility
Rgfer wtm o s ¥ ’
(1) Iea = : T (2) | HSIRAT
(3) T m @ SRS

27. Which of the following theories of mtemat10nal trade can be better understood with the
help of opportunity cost ?

(1) Fundamental theory : () Factor eﬁdowment theory
(3) Theory of absolute advantage : (4) Theory of comparative advantage

Wwﬂmﬁaﬁﬁ@amﬁwﬂ%ﬁ@ﬁmﬁ%ﬁw—
R |qHST ST Tl ® 7 |
(1) R R k (2) Waﬁﬁﬁmﬁ
@) Tt am & Resra (@) g ar R
28. The process of increasing the contents of the job or deliberate upgradmg of
respons1b111ty, scope and challenge in work is called :
(1) Job Enrichment- ~ (2) Job-Analysis
(3) Performance Appraisal (4) Job Enlargement

.mﬁmﬁmﬁmﬁﬁmﬁ%wﬁmwﬁrmﬁ
g‘vﬁ'cﬁ@rmw%

(1) ey waedT | (2) = R
(3) v 1 i BOR a1
- -MPH/PHD/URS—EE-Z019/(Co."mme_rce)(SET-Z)/(A) ' s "P.T.O.
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8
. Match LlSt-I with Llst-II and select the correct answer using the codes given below
and lists : - '
List-1 List-II
A. VED analysis 1, Capital structure
B. Fund flow analysis 2. Inventory Control
C. Return on Investment 3. Working capital management
D. MM Theory | 4. Overall profitability
- Codes :
A B C D
(H2 1 4 3
2)2 3 4 1
3)2_4 1 3
@3 4 1 2 : |
@Il%wwﬁlwﬁmaﬁﬁ?:ﬁ%ﬁq@a@zaﬁ@ww
SG10 S B - 13 |
A. VED fasigor ‘ 1. ﬁ‘;ﬁm
B. Y gare fagaeor. 2. g I |
C. PR W g 3. s G e
D.tq v E3EAR] 4. T ATl \
A B C D
Mm2 1 4 3
22 3 4 1
B2 4 1 3
3 4 1 2
j( 1{}? which of the following situation, the income elastlcnty of demand W111 be greater
an unity : ; .
(1) When commodity is a necessity (2). When commodity is inferior
(3) When commodify is a luxury (4) None of the above
Preg # @ fpg Rafy & 9FT &1 o o Thar & it @i ?
(1) 59 a6 T STALTHAT & 2) st =g P & 2

(3) o =g Tl () St B (4) Swe F ¥ A
MPH/PHD/URS-EE-2019/(Commerce)SET-Z)/(A) .
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. Match List-I with List-II 'a_nd select the correct answer using the codes given below

and lists :
List-I List-II
A. Right to be informed 1. Right to acquire knowledge to be an
| Informed consumer
B. Right to consumer education 2. Right to know MRP, date of expiry etc.
C. Right to safety 3. Right to get relief if product does not
- _ meet expectations
D. Right to seek redressal ) 4. " Right to be protected against unsafe products
Codes : - |
A B C D
(1) 2 1 4 3 .
22 .3 4 1
@2 4 1 3
@3 4 1 2
@-H%m@lmﬁw#aﬁaﬁ?ﬁ%m@a@aﬁ?@wm
HTH T IR A - .
g1 ) g=n-11
A. GIAT 37 i SR 1.@@33@%@@%%@%
OT A BT HATBR
2. i) enfe fafer =
C. gIe &l SABR 3. gy ST STARMaTl W G SRl HIT
‘ | | , 3 g Ted U W SARBR
',D.ﬁraﬂwaﬁﬁaﬁr‘aﬁm . 4.'3@6@%{@%7@%
T
-~ A B C D
mz2 1 4 3
@2 3 4 |1
3) 2 4 1 3 ,
4) 3 4 1 2

MPH/PHD/URS-EE-ZO19/(Commerce)(SET—Z)/(A) __P- T. O.
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- 32. .The'non-performing assets are classified by banks as : - B
- (1) Sub-standard assets, doubtful assets and loss assets

(2) Doubtful assets and bad debts
(3) Standard assets and sub-standard assets
4) Doubtful asscts, loan asscts and bad debts

I Fraika wRaRET @ FHT G g fpar ST @
(1) Iq Hrgep 9, Ay dufy ofiw s wufT

(2) Gy |uRT o TR /0T

(3) |¥ep TURT )X I AFG @ayr -

(4) Gy Huaf¥, WW@TWW

ﬂ. Match List-I with List-II and select thc correct answer usmg the codes given below

and lists : -
List-I List-11

A. Friendship 1. Safety needs

B. Personal fulfilment - 2. Affiliation needs

C. Stability of income 3. Esteem needs

D. Status ‘ 4. Self actualisation needs

Codes : . -
A B C D

M2 1 4 3

22 3 4 1

@2 4 1 3

4 3 4 1 2

@-Il%m@-lmﬁmﬂﬁaﬁwﬁﬁqﬁ?aﬁ?wﬁm@ﬁw
g1 E-II

A. BT 1. G & AR

B. afrawa gff S 2. duwmar @ STEeTehdr

C. o i Rear B R 8- 5 CRE S

D. Rafer 4. 'S T A LR
A B C D

M2 1 4 3 :

22 3 4 |1

@2 4 1 3

MPH/PHD/URS-EE-ZOI9/(Commerce)(SET -Z)/(A)

Scanned by CamScanner



A o | | . - 11

34 In which of the following market several large banks accept deposits and provide Joans
in various currencies ? '

(1) Euro credit market | _ (2) Euro currency market
(3) Foreign exchange market - (4) Euro bond market

'”‘“'maaﬁ@ﬁWWﬁaﬁ@wmwm%mW
gl H ROT HEN HRS ¥ 7

(1) 70 BT TR S (2) T AT AR
(3) ﬁ%stﬁrﬁﬂam‘ - (4) U =T
:35. Which of the following technique lis used for forecasting IE
(1) Regression analysis v (2) Correlation analysis
(3) Cluster analysis (4) None of the above
Wﬁ%%ﬁﬁ%ﬁﬁ%maﬁmmwmm%?
(1) i e (2) TeEdy fageuor
(3) wgE faswor | N 4) auﬂzﬁr_ ¥ & g ol

36. The best hedging techniqué, when the amount and timing of foreign currency outflows
are uncertain is to . :
(1) Buy a call option -~ * - (2) Buyaputoption
2) ‘Enter into forward contract (4) None of the above

Va@m%ﬁﬂ(mm)aﬁ%mﬁ%sﬁgmﬁwaﬁw

SAffRea oxl @ ¢ |
(1) T Hict. fEaehed @iﬁ (2 g (wfa) Reped @R
(3) AT argee F o A - (4)€qﬁaaﬁ€faﬁ§?1€f

'37. - Which of the.folloWing is not cOrréct about provisions of FEMA ? .

(1) FEMA is simplified compared to FERA
-(2) It distinguishes between current account and capltal account transactlons

(3) It is meant for regulation of foreign exchange

(4) None of the above ,
ﬁwﬁt@aﬁﬁaﬁq—w%quEMA)%mamﬁ%aﬁﬁaa T B ?

(1)%Tr(FERA)a?rgaﬂTﬁ%m(FEMA)m%
@ﬁtaﬂ?ﬁr%aﬁawm%

,(4)3@%&%#&3&

MPH/PHD/URS-EE-ZOI9/(Commerce)(SET-Z)/(A) _- i ' P.T.O.
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A

Under which of the folloWing technique of Price Level Accounting, various items of

balance sheet and profit & loss account are adjusted with the help of general price

index prepared by RBI :

(1) Current value accounting technique
(2) Current cost accounting technique
(3) Current purchasing power technique.

(4) Replacement cost accounting technique .

AR o BN IR G T gais @ Aeg @ daw die (GO )

eh‘miaﬁ@ﬁa%ﬁﬁwaﬁaﬁwé@—vh@ﬁmﬁfﬁﬂﬁmﬁ@

fra® dea AT ST B 07

(1) a9 ™= I TEiHT Tehilh
(2) SHNE AR AEHT THh1D
(3) IEuE w9 AR 9ETE
(4) SREA9S AR AGibT T

As per Atticle 6 of Agreement on Agriculture (AOA), which of the followiilg are most
trade distorting box and subject to reduction commitments ?

(1) Amber box (2) Green box
(3) Blue box (4) All of the above

u@iﬁﬂtﬂﬂﬁ%%aﬂ%@z6%aﬁwr,ﬁmﬁmaﬁﬁaﬁw—wwﬁzﬁr
mwm%ﬁm(ﬁﬁwvmmﬁ)mm%aﬁm%?

(1) sfER 7 fE=mr - (2) E%Trram%ﬁn

(3) At 1 b fE=T - (4) ST T

Initial Public Offerings (IPOs) are a part of which of the following market 2
(1) Secondary market (2) Unorganised market

(3) Primary market: | (4) None of the above

IR st de Frafifad 7 @ e s o feam 7

(1) s s - (2) ererfeeT AR

@) g&F IO (4) ST K ¥ B

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(A)
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y. If selling price of a product is increased from Rs. 100 to Rs.120, it will ?

(1) Increase break- even point (2) Reduce break-even point

‘(3) Increase variable cost "~ (4) Reduce P/V ratio .

amﬁwﬁwma%%aﬁa?ra&qa 100 59 ¥ FgEhR 120 B H IRA 3,

T BT ?

(1) ¥9-~rede Rig § s (2) an-faed fig ¥

(3)Wﬁmﬁﬁqﬁg '(4)P/VGT3FnﬁﬁEF‘1T

_4{ "Buy 2 get 2 free offer on Shirts" is an example of which sales promotion techmque ?

(1) Product combination F, (2) Rebate '

(3) Discount ‘ - () Quantity gift
Eﬁﬁzsﬁwzgqaaﬁqo—{mm fha Redt dage de-is B IH

JAEIT T T B

O s EdeE 0 @

3) 8 - - (4) 5T SUER

J& U/S 208, the obligation to pay advance tax arises if such tax during that year is:
(1) Rs. 10,000 ormore - ~ (2) Rs. 20,000 or more
(3) Rs.25,000 ormore = - (4) Rs. 40,000 or more

U/S 208, e@qmwwaﬂ%maﬂaﬁqwaﬁ%aﬂﬁwwaﬁrm
29 9Y I BT B ¢ .

(1) 10,000 9 mawfélzs @ 20000*5qirzna:rf€rcs

(3) 25,000 59 AT AT (4) ‘40,000 TT =T A

44. When RBI sells. the approved secdrltles to the banks w1th the commitment to
repurchase the same after a specified period is known as :

(1) Discount rate SR (2) Repo

3) Bank rate , ' (4) Reverse repo -
mmam@ﬁﬁeem%mw%wﬁg#@ﬂamﬁ
feTesar &  STgAISd Qﬁf’*ﬂ?ﬂﬁ r Fepi B F=aT B

(1) 8 &l & @
(3) &% ] , 4) R=ed %&r .
MPH/PHD/URS-EE-ZO19/(Commerce)(SET-Z)/(A) , | A P.T.O.
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45.

46.

47.

48.

The cost of retained earnings is :

(1) Profits (2) Interest*

(3) Dividend (4) None of the above

(1) s \ ) =

(3) |rsisT o (4) ST F F By &l

According to which concept, the availability and affordability of the product are
considered to be the key to the success of the firm ?

(1) Sales concept - (2) Marketing concept

(3) Production concept : (4) Product concept

Fhe STamen & oTgEN, uwlqaﬁWs&meﬂTmeﬁaﬁtﬁﬁwzﬁ
Foil AT STTem 8 7 :

(1) Ret & emuReT (Z)Wmﬁeqaaﬂvn

(3) ST F erqErReT | (4) S @Y ST

The time limit to get information under RTI Act is : :

(1) 20 days " (2) 30 days 3) 60days  (4) 90 days

AR & o T $ ded gEAr W w1 9w e R
M 220RT (2 30RT (3) 60 &= (4) 90 R

Point of Sale (PoS), Smart cards and ATMs are part of : N

(1) Virtual banking system- | (2) Group banking system

(3) Universal banking system =~ - (4) Mixed banklng system

TEe e o, wéwéaﬂrqa@m%w%

(1) ey ST gomely (2)a§a§fﬁmwﬁvﬁ

(3) GrEAHE T Fomedt (4)%%%%%

Prmc1plc of Subrogatlon is not applicable to which of the followmg type of 1nsurance 9

(1) Marine i insurance - o (2) Fire insurance :
“(3) Life insurance (4) All of the above .
wﬁmw%@aﬁwﬁf@aﬁﬁmw%ﬁﬂmww'w 22
(1). Tt Sy L 2) A S | |
. (3) ST & | (4) STFT Ty

. MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(A)
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‘/5/ 0. Which of the following is not a dlffcrence between cheque and b111 of exchange ?

(1) Cheque bears no stamp, whereas bills should be stamped

(2) Cheque may be crossed but bill can't be crossed

(3) Grace days are allowed in cheque but not in case of bill

(4) Both are bill of exchange .
Wﬁﬁﬁﬁ?—ﬂ%@?ﬁﬁqﬁﬁﬁ%ﬁﬁawﬁ %7
(l)aﬁkm?ﬁ‘ﬁiﬁﬁﬂﬁ%,mmwwwm

(2) 3% B BT Rear o T & ARG RIS B re 7€ oA o Wbl
(3)azsﬁanﬁaﬁangﬁraaﬁﬁ%aﬁmﬁa%qmaﬁa€f |
@) I R S R ¥ |

M. 4P's of marketmg were developed by :

(1) Mc Carthy | ' (2) Henry Fayol

(3) J.R. Betty o : ; " (4) None of the above

4P % Faer arr fafead. m ™

(1) Frepreit _ - () BT %ﬁa

(3) o oo & - (4)aqﬂzma@ra%1éaa
JB2. Which of the following is a non-tariff barrier BN o

(1) Quantity restrictions : (2) Foreign exchange ;estricﬁons

(3) Preferential arrang.ements " (4) All of the above . '

Frafafad & @ @F-ar o R-AEE ST § ? |

(1) == SRE ,' (2) el gaT wfcEe

Q) i e (4) ST AW

53. Which of following is a not a negotiable instrument ? 7
| (2) Cheques

(4) Promissory notes’

(1) Dividend warrants

(3) Share certificate
ﬁwmaﬁaﬁw-m@mwwﬁ g7

(1) @rsier.- aRe S @Es
(3) R FEET (4) g 9=
S MfH/PﬁD/URS-EE-zo19/(Commen¢ce)(SET-z_)/(A) o e =l o ks P T o.

Scanned by CamScanner



16

Out of the following, which is the latest buzzword in banking industry 2
(1) Branch banking (2) Financial inclusion

(3) Mass banking (4) None of the above
RrfRag & & (e SRET Sen § Fdeam ge 99 ©

(1) S smEr () fa=ia |HEs

(3) =2 Y o A (4)mzmﬁaaﬁé=ﬂr€f

Which of the following is not applicable to 'One Person Company' ?
(1) Its paid up share capital should not exceed Rs. 50 Lacs
(2) It can be formed for charitable purpose also
(3) Its average annual turnover of last three years should not exceed. Rs. 2 crore

(4) One person can form only one company

‘v ARRT FEN G B F F B @ T S ® 7 ,
(l)mﬁ’mﬁ(ﬁg)amgt—ﬁsoweﬁﬁaﬂaﬁﬂﬁﬁm%q

(2) ge gutel SR § Rg off 9= 1 Gehall B
(@fﬁﬁBaﬁf%meﬁﬂﬁmﬁ?TﬁWZWﬁg@@aﬁﬁiﬁﬂﬁ@ﬂT

e

: (4)@mﬁﬁa‘ﬂawﬁiﬁwm%

Which of the following is the most approprlate source for financing investment in new

machinery ? .
(1) Trade credit ' (2)_Accoi1nt 'payable
(3) Bank overdraft = ‘- (d) None of the above

%qmﬁﬁﬁaﬂém%w%%qmﬁw@ﬁﬁwﬁéﬁm
s 7

(1) =R FoT ‘ (2) T Grar

(3) ¥ SlRgFe - - (@) ST T F R
SEM used in marketing means : :

(1) Sales-earn-money ' (2) Save-efﬁciency-moncy
(3) Search-engine-marketing ~ (4) Any of the above
e 7 89 (SEM) &7 ST el @

(1) et dr FE P i p—

(3) @1 aree g ‘ (@Wﬁ@fqﬁs‘@g

MPH/PHD/URS- EE-2019/(Commerce)(SET Z)(A)

Scanned by CamScanner



17

A

53_ nIt refers to that level of EBIT, at which the EPS remains the same irrespective of
debt equity mix". What is referred here ? ‘
(1) Break-even point ‘ (2) Financial indifference point

// (3) Cash break-even point (4) None of the above
g EBIT & 9§ ®X @ dafifq & ¥ R ux EPS kot gl e & ao
& WA 8 S/ W@ F per 4w ¥ 7
(1) T9-frede fig | 2) fa<ig SErie fig
(3) T TR fig (4) s F & g T

59. Doctrine of caveat emptor means : '
(1) Let the buyer beware* (2) Let the seller beware
(3) Let the Govt. beware : - (4) Allof the above
BlFE IR B Rara H Aaew T
(1) SR & qEgM 8 & (2)1%%@%%@%
(3) BRI B gEgH B T (4)Buﬂa%rwfﬁ

60. According to Walter Model if r > k, the optimum pay-out ratio will be :
(1) 20% @) 100%  (3) 50% (4) Zero
e Aisd B IFFER >k B, A FEAH PR S ST
(1) 20% 2) 100% . 3) '50% @) =

61. Under Managerlal Grid theory of leadership which of the followmg managerial style is
considered autocratic style of leadership :

(1) 9,1 Managerial Style (2) 1,9 Managerial Style

(3) '1,1' Managerial Style (4) 9,9 Managerial Style
Waﬁu%%aﬁﬁwa%@ﬁ?ﬁﬁwﬁf@amm%ﬁwﬁwzﬁ
fFReger A=l 7T ST B

(1) 9, 1 sEigba (@) 1,9 wEgEHE QD

3) 1, 1. ysegad (@) 9,9 weEuhE A

| \9{ ‘Which of the following describes the basic principles of business ethics ?

(1) Utilitarianism, social commitment and reputation
- (2) Principle of right, ptinciple of justice and social commitment
E (3) Utilitarianism, principle of right and principle of justice
. (4) Utilitarianism, social reputation and justice .
MPH/PHD/URS-EE-ZO19/(Commerce)(SET -Z)I(A) S L P.T. O,
L -

i
I

. —
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- PrefiRed ¥ @ @ Reera ofe & e R #1 a0 B 8 7
(1) SyRFaEE, amires gifesar olX ot |
(2) eI 1 R, =m & Rysr oI AT gl |
(3) IUFFEETR, SRR H1 REarg X =™ &1 e

(4) STAREER, AHERE g, ok =™

63. The law of variable proportion in short run is also known as :

(1) Law of diminishing returns - (2) Law of constant returns , _
(3) Law of increasing returns - (4) None of the above

FrEy ¥ aRexd N orgur & M @ off s o &

(1) TEHE Red @1 s (2) Rex Rest &1 &g

) Rest s & ®wrm (4) ST F & B TE

55/4'. Which of the follbwing distinguishes marketihg and selling ?

(1) No relationship between selling and marketing
(2) Marketing is a part of selling o
(3) Selling and marketing are same
(4) Sellingisa parf of marketing _ | _
Frafifea & & @ Roem ol Rl @ ofert ear & 7
(1) F=7 IR Ruer & 9w B T WY
(2) fuorT Reht &1 o R R |
(3) faeh % RuvE w9
(4) s Rroor @1 o e ® | |

vé'. X Itd. forfeited 300 shares of Rs. 10 each, Rs. 7 called up for non-payment of first call
of Rs. 2 per share. Out of these, 100 shares were reissued at Rs. 6 per share. How much

~-amount will be transferredto capital reserve account ?
(1) Rs.2,100 () Rs.400
(3) Rs.1,500 . A (4) Rs. 1,400 ,
- X fRif2s 3 10 93 B 300 Fo T BT T 0SF 7 B9 F why Swe 2wy -
- P ueel FT B AT F R BT T T Y100 AR 6 59 Ry S
%%ﬁﬂﬁ%ﬁfaﬁﬁmﬂqaliﬁﬁﬁﬁé@m-ﬁﬁﬁ:ﬁwmﬁ

(1) 2,100 59 (2) 40057
3) L50089@ | (4) 1,400 593

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(A)
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66. ‘Which of the following is not a measure of dispersion ?

(1) Median (2) Ranges

(3) Deviation (4) Standard deviation
Frfifad § | &9 o @ w9 T8 S 7

(1) A=Y (2) &=

(3) e (4) w1 Rrerer

\91. The concept of green marketing refers to :
(1) Marketing of green colour products
(2) Agriculture marketing

(3) Environment friendly marketmg
(4) None of the above .
i HHRT A STERoT B et e %
(1) 8 {1 H SRS H fFues
(2) PN o |
(3) TIERT & TR faqo=
L @) S # F B

\93{ When the population is scattered over a wide geographical area, then which of the
following sampling techmque beappropriate ? 3%

(1) Random sampling " b, (2) Multi-stage samplmg
(3) Convenient sampling (4 None of the above

mm@ﬁﬁﬁﬁm%ﬁﬁﬁwaﬁ% ?ﬁﬁmi%iﬁgaﬁ%
BF-l AT qhrieh IUFeRT BN ?

() amgfes T (2) AR
(3) GRyaTE T - | (4)Gqﬂaﬁﬁ@taﬁé:raﬁ

&4- Which of the following is not a Non- probablllty samplmg method ?
(1) Cluster sampling ~ '(2) Judgement sampling
(3) Snowball sampling (4) Convenience sampling
Fr=feiag & @ -1 I-FEAT TR B 787 %?
(1) =ge g - @ FeEgm
(3) g T (@) g

207 Which of the following type of research is carried out to ﬁnd solution to a real life
problem requiring an action ?

(D Research can't be carried out (2) -Pure research
(3) Applied research . (4) None of the above |
MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(A) R P.T.O.
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Prafafag & & Fha gbr & o B ARG
QT Y STaThdT 8k 8 7
(1) rgeer =&l fFm o e
(2) = M
(3) "rfres ame
(4) ST & § F1g el
71. Which of the following test will be appropriate for judging the151gr31f;§aggear?§
difference between the means of two samples, when sample size 1S 1€SS

population variance is not known ?
(1) f-test (2) t-test
(3) z-test (4) None of the above

ﬁmﬁr@aﬁ@aﬁmmqﬁmaq@%ww%aﬁaw%maﬁ

ST el § 7
(1) f-aderer (2) t-a<eror -
(3) z-gdeEer (4)@qﬁaaﬁ@rzaé:r€r

percentage of bulbs without mistake will be :

(1) 12% @) 54% (3) 74% (4) 80%

qF ARG & WX g 80 Sl B TH SR H, qﬁmaﬁaﬁaﬁwa@n
0.3% 1 RBFT TR B ST 1 HfieE SN

(1) 12% (2) 54% (3) 74% - (4) 80%

% y Suppose in a box of 80 bulbs packed, the mean number of defects per box is 0.3. The
N
3

;

+

~ (7/4 In which of the following situation bailment cannot be terminated ?
(1) Doing an act consistent with terms of bailment
(2) On expiry of period
(3) At the desire of the bailor
(4) None of the above . :
Frefffae % & e Rafr & o @i w8t & s w7
(1) ST @ 9t & TS B HIAT ,
(2) srafyr = gAIE U¥
(3) STHMARIX &Y §W\T W
(4) SUTRT F | iy TEH

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(A)
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/4.' Which of the following is most widely used method of calculating correlation ?
(1) Scatter diagram , . (2) Linear methed |
(3) Charles Spearman's | (4) Karl Pearson's
ﬁ%ﬁﬁ%-wm—wuaﬁmwﬁ%mwﬁmwﬁ
STANT ST ATl Ry %, ?
(1) vurR o 4 2) Y faf
(3) I Rggxde - (4) &t e

75. Where products are complementary to each other, the shape of indifference curve Wil
be like English letter ?

(1) N ‘2 P 3) L 4 M

SRl SR Th-gER B B ¥, a8 IAET ash Bl TR SIS ST&R
S 8 i S

N S @P GyL (4) M

]é. Monopolistic competition is a mix of which of the following ?
(1) Perfect competltlon and ohgopoly '
(2) Perfect competition and monopoly
(3) Oligopoly and monopoly
(4) None of the above :
TR uieifar fF=faiea & & ﬁmzm ﬁf%TUT % ?
(1) Tf g i ST
(2) gt gieafmr &R uepTTRIHT
(3) STeHIfErRpIX TR THIEHR -
@) SudreRT § A g A& ‘
% Which of the followings is not an objective of Competition Commission of India ?
(1) To promote monopolies | :
(2) To create competition fund
(3) To protect the interest of consumers
(4) To curb negative aspects of competition
ﬁw%@aﬁaﬁqm%qﬁzﬂﬁwwﬁvwaﬁw Ter %?
(1) TR B gerEr 3 & R
(2) gicafar My s= & [T
(3) Susarst & foa @t <@ ® R
(4) TR, S ToprRTEE Tege W aﬁgsn-awﬁ @ Rg
MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(A) . | - P.T.O.

»
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78. Charging different prices for the same product from different customers is cgllcd :
(1) Double pricing (2) Cyclical pricing
(3) Transfer pricing 4) Price.discrimination
STETT-SITT AMeH! H Th & I & RIY afert-orem Hia =1t B HeT ST
e :
(1) R g Fratzor () T e el
(3) BTEICRYT T (4) e AgHE
79. An indifference curve is always : | |
(1) Concave to the origin (2) Convex to the origin
(3) A horizontal straight ﬁn'e : 4) Avertical straight line
T SIS @ shem & ® .
(1) S@RT & ot (2) SR B I
(3) TH ARweT el Xar (@) & St Ae T

80. Match List-I (Accountlng standard) with List-II (Relatlonshlp) and select the correct
answer using the codes glven below and lists : '

List-I 7 Listlr \

A. AS-6 PRI S B .Accounting for consolidated financial
| B ..+ stitciments .
B. AS-12- ' . 2. Accounting for fixed assets
C. AS-10 B * 3.2 Depreciatioﬁ accounting
D. -AS-21 . . 4 Accounting for Government Grants
Codes: ' | |
AB C D
M2 4 3 1 ]
@3 4 2 1
@4.3 1 2

@1 2 3 4
MPH/PHD/URS—EE-2019/(Commerce)(SET-Z)/(A)
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'@‘I‘(Wqusﬁ-l(a@m)wmmaﬁ@n:ﬂ%mﬁ?@

@'I G-I ,
AS-6 | e R R & R e
. oae wREr & e

qIed ek

T SgEE ® g aEinT

Pt

AS-12
AS-10

90 ® »

AS-21

g -
A
(1) 2
@3
3) 4
@1
81. Which of the following is not a part of Carrols' four part model of corporate social
responsibility ? . ¥
(1) Economic b ) Legall
3) Disctetionary | ;" @) Polltlcal
| ﬁﬂﬁmﬁ@aﬁﬂ—mﬁwwmols)mwﬁiﬁwimwm
 Afew @ e T % ?
(1) s R (2)?'51:15ﬁ -
(3) FdeTe () TR

82. Which of the following agreements are declared v01d under Indlan Contract Act?

> oW

N W A~ A~
W = N W N
BN e e U

(1) Agreements in restraint of marriage

(2) Agreements in restraint of trade - :

(3) Agreements in restramt of legal proceedings i3z

(4) All of the above s
MPHIPHD/URS-EE—ZOI9/(Commerce)(SET-Z)/(A) o topidiugiieye  RLO;
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ﬁﬂ%@ﬁﬁﬁaﬁ?—ﬁwﬁ%qn?ﬁqaﬁaqaﬂm%m?ﬁ'm% |
.M E?

(1) st & EI9 H GHs

) =R F @99 §

(3) FrEh FEAE B wan ¥ qEE

(4) SURT Tt :

"Any Employee found using Whatsapp in the office will be penahsed Identify the type

83.
of plan :
~ (1) Rule (2) Strategy (3) Policy (4) Procedure
mﬁmwwmaﬁﬁmﬁﬁraﬁﬁﬁr&"aﬁﬁiﬁ%w
IR H H e dfeq fear s 2
(1) = | - (2) xR
@A (4) wrifafer
84. Judging people on the basis 6f the characteristics of the grouia to which they belong is
called : C . :
(1) Halo effect 2) Stereotypmg (3) Attribution ~ (4) Inference
;ﬁﬁzﬁwwaﬁﬁﬂwﬁ%eﬂmwaﬂwﬁﬁ%ﬁ%% T ST
(1) gEHsE gEE S (2) SfeEsT '
(3) STrrer | L () ergEE
85. The rate of GST on gold is : : SRS ‘
(1) 8% ) 5% 3) 10% @) 3%
A o3 off g & B TR PR s
(1) 8% - (2) 5% (3) 10% 4) 3%
86.V Out of the following identify Intéllectual Property Rjght : ‘
(2) Geographical indications |

(1) Plant variety rights.

(3) Industrial design rights

Frafifaa § & s T9a 98 & ¢
(1) 9% B R sfEeR (2)%%
) Nefiep fFemsT AfEER (4)@%@.

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(A) :

4) All of the above
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g7. Wthh of the following is best indicator to determine whether the value of country's
~ currency is appreciating or depreciating ?
(1) Balance of trade (2) Balance of payment
(3) International trade (4) None of the above
ﬁwﬁr@ﬁﬁﬁaﬁﬂ-wqﬁﬁmﬁﬁm%mm@mw%ﬁﬁ%ﬂ
B AR BT Hed G A7 T § ar e

(1) SAMR 1 FITT (2) S 34
(3) SIS AR (4) SR ¥ A P T

83. Which of the folldwing distribution channel is most suitable for consumer goods ?

- (1) Two level channel ~ (2) Three level channel

(3) One level channel i (4), Direct channel
mm@%mmﬁaﬁ—wmmmm%?
(1) & wAT A (2) a9 T | .
@ ., (4) @ A

89. Karl Pearsons's co-efficient of cofrelation assumptions do nof includes :

(1) Linear nature ~(2) No cause and effect relationship

(3) Normality L ~ (4) All of the above
mﬁaﬁq%waaﬁw%gﬂﬁﬁmﬁa T ¥ ?

(1) g uphr | () B HRYT AR JAE T TS
(3) |TEROT ST : 4) Gqﬁa\——r 9l

P

90. Under which of the following methods of performance appraisal many evaluators join
~ together to judge employees’ performance in several situations using variety of

criteria : s
(1) Management by objectives (2) Critical incident
' (3) Assessment centre (4) All of the above

sasi gl @ FreRed qil § B TRl FR ATEUSt B SHE
aﬂ%a%ﬁa%ﬁﬁmﬁﬁwmshwmm%m@mmm

0) G%sai’r et @) Heagel qw"
(3) Siter F= | © (4) SudeRT @t

IVIPH/PI'H_)‘/URS--EE-ZO1\9/(Comm'erce)(SET-Z)/(A) P.T.O.
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91.

92.

93.

94.

95.

.(l)aaszrgv‘rao-{ﬁz?m#

Which of the following is nof a money market instrument ?

(1) Equity shares (2) Commercial bills

(3) Certificate of deposits (4) Treasury bills

fFrefeiRea & & @9 97 9ok e 787 8 °?

(1) s (gfRed) R (2) aferfaes ot

(3) ST &1 THTOTIS (4) T faw

Under which of the following competition, variety of goods will be available to the
consumers :

(1) Oligopoly (2) Perfect competition

(3) Monopolistic competition " (4) Imperfect competition
ﬁwﬁﬁﬁmﬁwﬁrﬁw%wﬁﬁww%wwﬁrﬁaﬁaﬁmﬂ
gy \

(1) sfeafespy (2) ot gferar

(3) TSR i . (4) eTget ufeRET

When income tax return is filed online w1thout using digital 51gnatures then which of

the following form is used ?
(1) ITR-VI 2) ITR-V (3) ITR-III (4) ITR-VI

e RERed swEr & ST R RET of™get Red offF agd 9_1 ST 8, o

1 & § fopm & 1 I9ART R S % ?
(1) ITR-VI (2) ITR-V- (3) ITR-III (4) ITR-VI

Planning of taking advantage of different incentives and deduction is a part of :
(1) Purposive tax planning (2) Permissive tax planning
(3) Mutual tax planning (4) None of the above

WW@TWWW@#WW@M%
' (2)a§q=qa7{ﬁﬁa=r

(3) ST BT AT | (4) ST F & B T
The Income tax slab rate for. Assessment Year 2020-21, for income from Rs 2,50,000

to Rs. 50000015 B
(1) 15% - (2) 20% (3) 5% 4) 10%

2,50,000 9 500000-5cr2razsa?raqrg%ﬁ=mamwaézozozl%%m

W@HH%

(1) 15% (2) 20% G) % @) 10%

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(A)
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96. Countervailing duties arc imposed to :
(1) Neutralise the negative effects of subsidics
(2) Increase the tariff revenues of domestic Government
(3) Punish domestic consumers for buying high priced goods
(4) All of the above 4
HERARTT (TRET H ) S TS e ¥
(1) IfEEr & THRIEH TG Jor HAT
() Y THR & A o ¥ ghs BT
(3)@%%@'&@%%&%@%&@%@
4 Sy et

97. Which of the following is an assumption of law of demand ?
) Taste and preferences of consumers don't change
(2) The income of 'the consumers don't change
- (3) There is no change in the pl'lCCS ef related goods
(4) All of the above
ﬁqﬁt@aﬁ@rzﬁﬁ-ww%aﬁaaﬁm%?
(l)maﬁvwﬁaﬁn@aﬁr{mﬁmqﬁmﬁ%
(2) SuERTST #F A F gRec 7€l el ¥
: ,(3)@%%#%1?%3@%&5@%
- (4) SuREd i —

98. The decision to own or lease will be taken by comparmg

(1) Cost of purchase and lease
(2) Present value of total post-tax cash outflows in purchase and lease .

(3) Present value of total pre-tax cash outflows in purchase and lease
(4) Profits on account of purchase and lease
wmemmmmwm.mm:
(1) @lg &Y gged &l Arrd
-(2)@*@Eai’r<qeéﬁqsazmﬂaa—crm%af€$raéqmga |
(3) Tw o ugd ¥ FHw qd X THS Al B AT T
(@) @l o e & d@r € \

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(A) 3L RGEEEY G VPATL O,
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99. To control credit in the country RBI may :
(1) Sell the securities in the open market
(2) Buy the sécurities in the open market
(3) Reduce Cash Reserve Ratio

(4) Reduce bank rate
%ﬂﬁ%@?aﬁrﬁqﬁﬁm%mméﬁaﬁ

(1) wfagferdt & ga STk § S
(2) SRR GA AT § ThR
(3) Tha SARMIT STIURT HH HX
(4) §F & FH B

100. Real Time Gross S;ttlemenf (RTGS) is managed by :
(1) State Bank of India = " (2) Govt. of India
(3) Reserve Bank of India @ Concerned Bank -
R @ T FIae S Rhar St ¥ ‘
(l)ﬂﬂ?ﬁqé?%ﬁ_m (2) WRA EHR SR
(3) Wi R ¥ 2T (4) Tt ¥6 &

- MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(A)
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1. If selling price of a product is increased from Rs. 100 to Rs.120, it will ?

(1) Increase break- even point (2) Reduce break-even point
(3eIncrease variable cost (4) Reduce P/V ratio
mﬁmﬁm#ﬁaﬁa&aﬁwmow&%mma@a&wﬁ%
1 BrT 7
(1) wpeRe g A W@y (Z)Hw-i?ﬁ@ai%igﬁzmﬁ
(3)_a¢ﬁatamaﬁ.qf%: | 4) P/V orgur F w0
2. ;'Buy 2 gét 2 free offer on Shirts" is an exémple of which sales promotion technique ?
(1) Product combination (2) Rebate’
\(3*)/ Discount ' ~ (4) Quantity gift
. @ﬁzsﬁwzwmmm"mmwﬁaﬁmww
SIET © 7
() ST Wﬁ?ﬁ q | (2) zr
3) BE' , | (4) =T [UBR
3. U/S 208, the bbligation to pay 'ad.vange tax arises if such tax during that year is:
(1) Rs. 10,000 ormore: * " (2) Rs. 20,000 or more |
3) Rs. 25, 000 ormore = - A Rs. 40,000 or more.

U/S 208, aﬁqmwwmﬁwwﬁwwa&%%wwwm
B 9 ST BT 8 ¢ | I
(1) 10,000 59 a1 Sifer® o (D) 20,000 5T AT SR
() 25,000 59 a1 e @ 40,000 5YF =T ST

4. When RBI sells the -approved securities to the banks with the commitment to
repurchase the same after a specified period is known as : - .
- (1) Discountrate ~ A2) Repo
(3) Bank rate W, .. _14) Reverse repo
mmﬁeﬁwﬁ%aﬁﬁ%aﬁaﬁ%mﬁgﬁ@'ﬁamﬁaﬁ

i 3 oTgAiRa wRrafEl @ B A A= §
(1) 82 &l X o™
@) ¥F . . (4)ﬁaﬁi‘r?r |

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(B) - P.T.O.
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5. The cost of retained earnings is :
_b) Profits (2) Interest |
(3) Dividend . (4) None of the above | <
(1) s ' _ (2) ===t
(3) s o @ swe # A
6. According to which concept, the availability and affordability of the product are
considered to be the key to the success of the firm ?
(1) Sales concept : (2) Marketing concept -
(3) Production concept -4y Product concept
ﬁmammvrr%aﬁaﬂ mﬁw&wﬁtwﬁaﬁqﬁaﬁmaﬁ
oll AT ST B P .
(1) Rl & sremem. . (2) fuo™ & STgEReT
(3)a?q1a=fa‘$raqaermn O (4) SR @ STIERM
7. The time limit to get 1nformat10n under RTI Actis : | .
(1) 20 days " (2) 30 days /(5 60days &) 90 days
AR & ong e & qeq gIe oI B @ geg €@ R
1) 20f= 2 30%?{ ) (3) 60 &=t @) 90 RT
‘ Point of Sale (PoS), Smart cards and ATMs are part of :
( Virtual bankmg system - (2) Group bankmg system
3) Universal banking system  (4) Mixed banking system
rEe $lF &, T¢ . X T & o w1 e §
(1) SR SR ST (2) wEE ST women
(3) WS AT goTeh (4) P ST gomed

‘Prmclple of Subrogation is not apphcable to yhich of the followmg type of Insurance ?
(1) Marine insurance Fire insurance 4 |

e & (3) Life insurance | ﬂ‘)/ All of the above
H@ﬁmwﬁmﬁﬂﬁf@aﬂéﬁmw%aﬁmwwqﬁ %?
(1) wEEr S (2) &R < B
@) s ey '(4)Guﬁaerw,__

'MPH/PHD/URS-EE-2019/(Commerce)(SET -Z)/(B) -
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10. Which of the following is nof a difference between cheque and bill of exchange ?

/ff Cheque bears no stamp, whereas bills should be stamped
(2) Cheque may be crossed but bill can't be crossed

(3) Grace days arc allowed in cheque but not in case of bill
(4) Both are bill of exchange
Wﬁﬁﬁ?—w%mmm%aﬁamﬂﬁ g7
(1) 35 REx @ B dex wd 8, o@ts B 0T fe @ =Y
(2) =% Y HE Fhar ST Febar § Al (O BN e Ll [HAT ST FHAT
3) 3% F 39 R B orgafy & o 3 AT B S AmR A T
4) =1 At & _Re © '
11. Which of the following test will be appropriate for judging the significance of
~ difference between the means of two samples, when sample size is less than 30 and
population variance is not known ? ' '
(1) ftest ‘ kY ttest
(3) z-test o - (4) None of the above '
Prafifes & @ fe-ar qheer & T B A $ fd oWR F e B
Wﬁ%msqgﬁﬁn;mmaﬂm?aO@rm%aﬁ%W@rW

g & B 7 N _ .
(1) fodeor ~ .(2) e
(3) zw e (4 SR A a‘aaé S|

@ -Suppose in a box of 80 bulbs packed, the mean number of defects per box is 0.3. The
percentage of bulbs without mistake will-be : ' . o
(1) 12% (2) 54% (3) 4% . D) 80%

o ST P SR T 80 Al B wh Al F, sRy dtww AN B oew der
032 fFT T B Scal BT RIS B o
(1) 12% (2) 54% . (3) 74% (4) 80%
@ In which of the following situation bailment cannot be terminated ? |
(1) Doing an act consistent with terms of bailment |
(2) On expiry of pef.iod. ‘
(3) At the desire of the bailor
P C)) ‘None of the above

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(B) P.T.O.
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ﬁmﬁmﬁ@rﬁmﬁaﬁﬁmmwaﬁwm%?.
(1) ST @& et D AT Hrd B
(2) STafy I AT W
(3) THFOER H §BT W
(4) ST 7 { HE ASA
method of calcu»!at’ipgrcqrfrclation?

14. Which of the following is most widely used

(1) Scatter diagram (2) Linear method

Karl Pearson's

3) Charles Spearman's |
o H B R o e & &

ﬁﬁ%@ﬁﬁﬁaﬁﬂ—ww—wraaﬁ
ITANT & S aren Aty 7 '

(1) s R | (2) Y Af

(3) = RgaA | | (4) et e

Where products are compl\émeptgry_ t’Q’,\each.other_, the shape of indifference curve will
be like English letter ?° -

(1) N (2 P | (3) L. @M

dgrarm o | .

()N -Pr (3) L - @ M

16. Monopollstlc competmon is a mix of which of the followmg 7

(1) Perfect competltlon\and ohgopoly
Perfect competltlon and monopoly
C.) _3¥ Oligopoly and monopoly
(4) None of the above |
R SREIT PR # & R FEe S ?
() quf g S STeaTEeh T
| @) ot SR SR TR
(3) STEUIREBIR AR THITRR
(4) Ul H q HIg el

MPIUPHD/URS-EE—ZOI9/(Comm,erce)(SET-Z)/(B)

LG, Y ——
B
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17.  Which of the followings is #of an objective of Competition Commission of India ?

/ef{ To promote monopolies
"?/l‘o create competition fund

(3) To protect the interest of consumers *

(4) To curb negative aspects of competmon

’ﬁw%mﬁ%aﬁqw%nﬁﬁfﬁmamaﬁraﬁwaﬁ g7
(1) THRBR H Fg@r 3 B R

) SRR Bl == R

(3) ST & BT @ i B R[iY
(4)qﬁﬁm%mq@eﬁwa@ﬂwﬁ.%m

18. Charging different prices for the same product from different customers is called :

o %Double pricing - N =S | (2) Cyclical pricing
3) Transfer pncmg v - ,(4¥Pr1ce discrimination
W—WM%&%@@NIQ%WW—WWWWWW
(1) dew gem Frefer . (2) wEEE R P
(3) sXICaRT I 4) gsq e
~19. An indifference CUI:VC is always : ‘
.(1) Concave to the origin =2y Convex to the origin
(3) A horizontal straight line - (4) A.vertical straight line
T IIHGT g A el ® | '
(1) SRt B o  (2) SRt & S
(3) T AT et T (4) ©F et el
MPH/PHD/URS-EE-ZO19{(Commerce)(SET-Z)/(B)l e AN FR P.T.O.
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20. Match List-I (Accounting standard) with List-

11 (Rclationship) and select the correct

answer using the codes given below and lists :

List-1
A. AS-6

B. AS-12
C. AS-10
D. AS-21
Codes :

A

(1 2
3
@) 4
4) 1

o 0w »

A
()2
2) 3
() 4

@1

MPH/PHD/UR_S-EE-ZOl9/(Commerce)(SET-Z)/(]_3) e

W.‘;_hw

2

AS21

B
4
K
3
2

List-11

1. Accounting for consolidated ﬁnanc1al

statements
15
2. Accounting for fixed assets (L)
Depreciation accounting &@)

4. Accounting for Government Grants

J.

W
S

@-H(Wﬂ)%wwﬁ-l(a@w)wﬁaﬁaﬁaﬁt:ﬁ%ﬁq@@
eI '

AS-6
AS-12
AS-10

g |
4, T egE & R St

cC D .
3 1

2 1

1. 2

3 4
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- 21.

22.

&

24,

25,

Which of the following is nof a money market instrument ?

Equity shares (2) Commercial bills e
(3) Certificate of deposits (4) Treasury bills '
Frafiaa § & H9 I Io qeT 987 8 7
(1) 99 (3fRadl) R () ooy Rt
(3) STT- T THTOTAS @) T R

Under which of the followmg competition, variety of goods will be available to the
consumers :

(1) Oligopoly _2¥ Perfect competition

- (3) Monopolistic competition " (4) Imperfect competition

Sﬁwﬁ@(ﬁmmﬁm%mﬁﬂﬂw%wwﬁzﬁmﬁﬁm
?

(1) TR () oot gReERETr
‘(3)@Wui?—ﬁﬂﬁlar N “(4) sget wfefan

When income tax return is ﬁled online without using digital signatures, then which of
the followmg formisused ? . :

(1) ITR-VI ' (2) ITR-V p)’fTR—III (4) ITR-VI »
m%ﬁmmwmﬁﬂﬁﬁammﬁzﬁaﬁﬂwww% ar

-ﬁwﬁ@rﬁ»‘aqﬁaﬁrwmerm%?

(1) ITR-VI (2) ITR-V - (3) ITR-IIT | (4). ITR-VI
Planning of taking advantage of dlfferent mcentlves and deduction is a part of :
A Purposive tax plannmg /dr Permlsswe tax planning

(3) Mutual tax planning (4) None of the above

RiftFT icareT ok Xl 1 AT A B AT BN TH FEA D

(1) Ryt # FEeE (2) g Y e
'(3)am“eﬂa?€u‘lw - (4) ST ¥ q HE A

The Income tax slab rate for Assessment Year 2020-21 for income from Rs. 2,50,000
toRs. 5,00,000is: - _ .

(1) 15% (2) 20% »(8’;”5% ' 4) 10%

2,50,000 9% - SOOOOOFCF?T a% B Y B T TR a¥ 2020-21 & Rw
AFHT & & ®: |

a) 15% (2) 20% @)% (4) 10%

MPH/PHD/URS-EE-2019/(Commerce)SET-Z)/(B) v B TYO.
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60 Countervailing dutics arc imposed to :
&

Neutralise the negative effects of subsidies

(2) Increase the tariff revenues of dOITlCSllC Government

Pums}l domestic consumers for buymg high priced goods

AP)’AH of the above

_ (Dﬂ%ﬁ'&"f%mnwﬁiaﬁémm
(%aiqaw%mmﬁgﬁam
(%Bﬁfﬁqﬁﬂmﬁ@ﬁaﬁ%maﬁwﬁw@aﬁaﬁﬁm
(4) STAEFT . |

7. Which of the following is an assumption of law of demand 9
(1) Taste and preferences of consumers don't change
(2) The income of the consumers don't change
(3) There is no change in the prices of related goods

(¥ All of the above 4
ﬁmﬁr@aﬁ@faﬁqmﬂm%wﬁm%?
(I)Wmm@ﬁwﬁwﬁaﬁﬁ%
(2)wﬁwaﬁaﬁamﬁqﬁaﬁqqa@m%
(3)Hﬁlﬁﬁwmﬁiﬁaﬁﬂ?ﬁﬁiﬁémﬁ={€fgaﬂ%
(4) ST |

| @ The decision to own or lease will be taf(en by comparmg
(1) Cost of purchase and lease _ D
(2) Present value of total post-tax ¢ash outflows in purchase and lease
" (3) Present value of total pre-tax cash outflows in purchase and lease
(4) Profits on account of purchase and lease
gET B @ g == A qee o) ot ﬁm SILIRS L
(1) T X 9ge & ArF|
(Z)W@qu%ﬁqsamwm%aﬁamaéqﬁng
(3)@ﬁaeﬁiqa%ﬁa\frgéﬁmar%aﬁawaﬁqmw
(4) @z AR ge2 § J@T W A |

MPH/PHD/_U RS-EE-2019/(Commerce)(SET-Z)/(B)
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29. To control credit in the country RBI may :
(1) Sell the securities in the open market
(2) Buy the securities in the open market

| .,(3)’ Reduce Cash Reserve Ratio
- (4) Reduce bank rate

39 Bee H P =Y 3 BT o) @ o
(1) "ot & o soiR # 39 '
) sierffeat =B g Ao @ Tl
(3) The SRR STgU™ 2 Eﬁ ‘

N

(4) ¥ W FH BR

, @) Real Time Gross Settlement (RTGS) is managed by :
(1) State Bank of India ~ . (2) Govt. of India

!\%% Reserve Bank of India | A4 Concerned lemk'

(1) RAE Ve 6 8rr . (2) 9RA EHR BRI
(3)wn?ﬁqﬁaé%‘asm (4)ava'fﬁa§asm

@ - Theffractice of recording deprematlon is due to which of the following concept :
(1) Money measurement concept ~ (2) Entity concept
(3) Going concern concept (4)' Matching concept
ﬁzﬁfﬁwwﬁraﬂamﬁwﬁéﬁmaﬂm%w%?
(1) & |99 EHedar- -~ (2) HE FHIEROW
3) TIRIT FHET STIERET - (4) T @ STaEReEN

@ Set of marketing tools that a firm uses to pursue its marketing objectives in a target
market is called : ' ‘ ' '
(1) Product mix - %\/Iarketing mix
3) Promotion mix , (4) All of the above

ﬁwwﬁmw%ﬁ@a&qwﬁaﬁmﬁﬁaﬁﬁrﬁm
TN B R IUART HAT 8, I9 HOl AW B ,

(1) S fFeor - (2) frqur frsror
(3) Sre Fvsror - @ SHEw e
MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(B) e AR O
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forfeited .share

33. After reissuing all forfeited shares, the credit balance remaining in

account, is transferred to : _
/(,1%/ Capital Reserve (2) General Reserve
(3) Share Capital Account (4) None of the above
a9t ST RRY T A @ RpT & o FT D IS, STl
A TR P sETART AT ST

(1) g B (2) IETE Y

(3) fEx R @ ‘ (4) Sud F F B T

34. In an organisation regardmg particular batch the. rejection rate found was 6% against
the set standard of 4%. The management found that it was due to t the negllgence of
Wjﬁtaff Whrch step of the controlling process is, referred here ?

o @ H 9 RO

(1) Measurement of actual performance

(2) Analysing deviations
omparing actual performance w1th standards .'

(4) Taking corrective measure

ﬁr@r&%a%aﬁﬁqmwmﬁar&ﬁ%ﬂ4%%ﬁaﬁﬁm%w
6% e, WW%W%%WWWH%W@%W

mlwm%ﬁrﬁwaﬁwwﬁamw%?

(l)wﬁzsnasﬁaﬁrqm 5
(2)f€raa=rzsrf2rsawr
(3)mq€ﬁf%maanaﬁzsmsﬁﬁgﬁmm

(4) GarTSH IUT HIAT

@ Kaizen costmg is applied to a product that is :

| (1) Produced ~. (2) Ready for sale
(3) Sold ‘ o ' (4) Under process for pfoduction
BT AR tfes e 9X @R fRaT S ¥
(1) S | (2)1%552:%1%1&1%31?
. (3) Fempa Sty ©(4) SR AkAT & A=

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(B)

")
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36. Dividing the market on the basis of personality of consumers is a part of :

(1) Demographic scgmentation (2) Geographical segmentation
(37" Psychographic segmentation "~ (4) Behavioural segmentation
m&ﬂweﬁ%aﬁaa%anmwamzﬁthmﬁﬁm@w%
(1) SFaifeea e &1 (2) AR RS

(3) EEHEITH faqeE @ '(4)3’1331'?1%[311?1?3?7[

@ Working capital Rs. 6,30,000, current assets Rs. 8, 40,000 and inventory is.Rs.4,00,000
(including loose tools of Rs. 1,05,000), what will be the current ratio 75 CA

(1) 4:1 - (2) 7:1 (3) 5:1 4) 6:1 co.
Hrhier $0 6,30,000 B9, =Y FIRMAT 8,40,000 SUN T TR G 4,00,000 FIA
(lOSOOOF@%W@WGﬁﬁ)WaﬂqﬁW@Tﬂ? .

(1) 41 2) 71 (3) 5:1 4) 6:1

@ Which of the following is nor a feature of services 2~
(1) Perishability o © (2) Hiseparability
(3) Homogeneity : . 49 None of the above
ﬁwﬁ@ﬁﬁﬁaﬁ#—ﬁ@m@aﬁ%ﬂw TETT ?
(1) IR - SRR (2)aﬁﬁﬁqﬁt | | o o
3) GhE (4)3qﬁaﬁﬁ@r®s‘=r€tk\ @f’\_{v;“?

5] 23
@ X and Y are partners sharing. proﬁts and losses in the ratio of 3:2. Z is admntted for 1/5th~> Y
share, which he gets ‘equally from X and Y. What will be the new profit sharing ratio ? - 5}

532 (2).6:2:4". (3) 5:4:2 C(4) 432 R R
ne?t Xk vys: 2%a§cmﬁwaﬂiaﬁrwaﬂﬁaﬁa@m%|zﬁl/s
3'z< m%%%ﬁﬂ?ﬁmm%lﬁhaﬁXaﬁTYéwmﬁﬁw%l
S nmwammweﬁmamafn? |

(1) 5:3:2 @) 624 (3)542 (4)4-3-2

O Which-of the followmg allowances are partly taxable under Income Tax Act ?

(1) Special compensatory allowance  (2) Children education allowance

(3) House Rent allowance Y All of the above
Wmﬁﬁ%—mwwm%mmwﬁmw
g7
| (1) fary ufegzs w=i ' '(Z)Gﬁtaﬁrﬁmw.
L ) W R oW (4) S @
MPH/PHD/URS;EE-Z_OI9/(Commerce)(SET—Z)/(B) | SRTT, : ‘ P.T. 0
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@ 4P's of marketing were developed by :
Mc Carthy ~ (2) Henry Fayol
“(3) I.R. Betty (4) None of the above
4P % fagom g fafeea ™ 9
(1) A=preff (2) &4 BA
(3) So R0 & (4) ST F F P O
o)) which .
Which of the following is a non-tariff barrier ?

(2) Foreign exchange restrictions

Quantity restrictions
(4) All of the above

(3) Preferential arrangements

%ﬁ%@aﬁﬁaﬁq—m@ﬁ'{mw%?

(1) T=T gfasey ‘ . (2) forslt ga7 A
(3) awhdr @Ewer (4) ot @
43. Which of followmg is a not a negotiable instrﬁment ?
(1) Dividend warrants ] | 2y Cheques
(3) Share certificate | . C) Promfssory notes
Preifeiad F § HF-9T 0% b a8 8 7
(1) SIS gRE - ST (2) =%
(3) I gAY S @ FE
44. Out of the followmg, which is the latest buzzword in bankmg industry ?
| (I) Branch bankmg : ~_2¥ Financial inclusion
(3) Mass bankmg | (4) None of the above
fr=feriee ¥ e S S F e o A ®
(1) ¥ gr@r N Q) B g RsE
(3) s = gx S (&) SR H A wE TE

45, .Which of the following‘ is not applicable to 'One Person Company' ?
(1) Its paid up share capital should not exceed Rs. 50 Lacs |

(2) It can be formed for charitable purpose also
(3 1ts average annual turnover of last three years should not exceed Rs. 2 crore

| (4) One person can form only one company
.‘MPH/PHD‘/U RS-EE-2019/(Commerce)(SET-Z)/(B)
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‘Ush ATy B wﬁwﬁazﬁﬂmﬂﬁéﬁm%?

(1) g9hT O (s )a?&T@ﬁSO“ﬂ@E@ﬁaﬂhEBﬂﬁa?ﬁm%q

(2) T& wmTet IRem B R off ST S AT B

3) Rea 3 gt H 3w oad s HRER 2 HAS TUA H SAH 7L S
Sl

(4) T ARG Daw TH HIAT o Gl §

Which of the following is the most approprlate source for financing 1 investment in new
machinery ? Co

(V" Trade credit (2) Account payable

(3) Bank overdraft T + (d) None of the above

ggqamaﬁam%aaaw%mw« dngq@aﬁwrﬁaaa:r-m'

5

(1) e T @@

(3) ¥ HARZFT | _-~(4).3@?ﬁﬁ@rzﬁl€?{€f
47. SEM used in marketing means : _

(1) Sales-earn-money . - . (2) Save-efficiency-money

4237 Search-engine- -marketing | (4) Any of the above

m%i%vﬁr%w(SEM)asrmﬂwéﬁT%

(1) fespr JEr AT S ) zerdT YT ST

(3) @it e fager " () S ¥ A PE T

48. "It refers to that level of EBIT, at which the EPS remains thg_same 1rrespect1ve of
debt equity mix". What is referred here ? s :
E;ﬁfcak-even point - (2) Financial indifference point
- (3) Cash break-even pomt . (4) None of the above
%EBIT%WW#WW%WWEPSWW%W%W
& Tear ¥ o8 @8l o HE TE 7

(1) an-foede fog ~(2) foxi SE g
(3) Fehe TH-fr=Bw fog | (4)@%&@@%;@.
Doctrine of caveat emptor means : ' |
' (1) Let the buyer beware (2) Let the éelle; beware
(3) Let the Govt. beware " (4) All of the above =
MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(B) e 3 PN T,
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Bfge T & A= &1 Haed ©
(1) Tt B aEe A ¥ (z)ﬁﬁmaﬁﬂrﬂmﬁ%
(3) UK H @YU B I (4) SUTRT A

50. According to Walter Model if r > k, the optimum pay-out ratio will be :
(1) 20% 2y 100% (3) 50% (4) Zero
IR Hisd @ AgAR r>k &, aF g P SR enm
(1) 20% (2) 100% (3) 50% (4) T4

Under Managérial Grid theory of leaderéhip which of the following managerial style is
considered autocratic style of leadership : '
79,1 Managerial Style " (2) 1,9 Managerial Style

(3) 1,1 Managerial Style @ 9‘9 Managerial Style
Wﬁs%aﬁﬁqwmmsﬁﬁwﬁr@amm%ﬁﬂﬁq@ﬁ

PRgy A AT ST B ;0
(1) 9, 1 geiTHE QAT | () 1,9 usgEmT A
3) 1,1 mhT A=A (4) 9,9 weEHE A

52\ Which of the fbllowiné describes the basic principles of business ethics ? o
(D) Utilitarianism, 'socival commitment and reputation
(2) Principle of right, principle of justice and social commitment
(3) Utilitarianism, principle of right and principle of justice

Utilitarianism, social reputation and justice

W@aﬁ%ﬂﬂmﬁvqﬁw%wmwaﬁ?m%?
(1) SYAIRER, e SkEsar R kST :
(Z)Wasrmﬁ mmmmaﬁtmmw
(3) IEAAEE, ARBR & Raa=T IR = o s '

(4) STfETETE, s Sk, AR, = |
' 53, The law of variable proportion in short run is also knownas : _ .
Law of diminishing returns (2) Law of constant returns | |
¢ (3) Law of increasing returns (4) None of the above
oty # aRedg orgu @ | @ 9t ST o § e ¥%
(1) BraEE Re &1 g (2) ReX Re=t =1 &g
'(bﬁzﬁwﬁaﬂaﬂvﬁ " (4)3@%#%@%:@

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(B)
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54 Which of the followmg d1stmgu1shes marketing af_ld sellmg ?

o i
e —— T =

(1) No relationship between se]lmg and marketing

(2) Marketing is a part of selling

~ (3) Selling and marketing are same

_A4) Selling is a part of marketing -
Prfae & & B Raor ofic Rl @ oTer FRT B 7
(1) ¥ IR R & S g we T R |
(2) Ruer fe=ht &1 9 e %
A3) Regr o frqer H'Fﬂ?f k-

(4) Reht fagor #1 uh fowmm &

Itd. forfeited 300 'shar,es’of Rs. 10 each, Rs. 7 called up for non-payment of first call
of Rs. 2 per share. Out of these, 100 shares were reissued at Rs. 6 per share. How much

amount will be transferred to. capltaI reserve account ? . B v
(1) Rs.2,100 | (2) Rs. 400 &l 9;‘3 e
(3) Rs. 1,500 (4) Rs. 1,400

X%ﬁ%g%lom%3oowWﬁsqwm7s®ﬁqﬁrW2m
@ Ueell i F I P F RAQ FEr @, T 100 FEX 6 T9F Af A
%%ﬂﬁﬁ@wmmalﬁﬁﬁaé@mﬁmfﬁmmﬁﬁaﬁ

? .
(1) 2,100 5T @) 4oow}
(3) L500BT (4) 1,400 T3

56. Which of the following .is not a measure of dispersion ?

/ga’M'edian- | (2) Ranges :
(3) Deviation (4) Standard dev1at10n :

ﬁfﬂﬁr@aﬁ@rzﬁwmwwﬁ g7

(1) qEATAX N () ;ﬁqT
@) REe < (4)q1=rc51%rr:|a=r

MPH/PHD/URS EE-2019/(Commerce)(SET-Z)/(B) P.T.O.
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57. The concept of green marketing refers to :

(1) Marketing of green colour products
(2) Agriculture marketing

/(Sf)/Environmcnl fricndly marketing
(4) None of the above
M AR o SR B AP FIT B
(1) & 31 & St & RueE
(2) PN fFuor
(3) qHiEReT & TR RA9UH
(4) ST H | Hig TS o

58. When the population is scattered over a wide geographical area, then which of the
following sampling technique be appropriate ? :
{1 Random sampling "~ - (2) Multi-stage sampling
(3) Convenient sampling (4) None of the above
mm@ﬁﬁ?wwﬁ%@?aﬁ% ﬁrﬁwﬁ«ﬁ@aﬁ@r
BT AT Thlh IUgeRT BT ?

(1) Frgfs®. TT | o (2) q?rﬁ?%trr T

(3) glaus e AT (4)@'?sz€fﬁ@f®§=i‘€7
Which of the following is not a Non-probability sampling method ?

(1) Cluster sampling - "(2) Judgement sampling "

(3) Snowball sampling y (4) Convenience sampling

Frfifaa & & He-a1 I-wsrerar T /i 787 7

(1) &g =g - () ot

(3) femshg® =L - C (@) gl T

60. Which of the followmg type of research is carried out to find solution to a real life
problem requiring an action ?

(1) Research can't be carried out (2) Pure research
137 Applied research (4). None of the above

ﬁwﬁi@aﬁ@rﬁmw%sﬁaaﬁmﬁﬁaﬁaﬁ.m, T
dre # eTEsEET A ¥ 7 = '

(l)aafmm:raé’r%mmw% !
2) g= o

(3) uraifes siver

(4) ST F q i T

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(B)
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@ “When a firm is able to sell more quantity of output at the same price, then ?
7 (1) AR <MR (@) AR>MR |
/(3’) AR = MR , | (4) None of the above
Gﬂ@qﬁweﬁaﬁnﬁweﬁﬁﬁwﬁqwmﬁmﬂéﬁ%
(1) AR<MR (2) AR>MR
(3) AR=MR () STdE & @ B e
62. Which of the following is objective of tax planning ?
- (1) To curb tax evasion - | (2) Shield against high taxation
(3) Avoidance of litigation : U4y All of the above

'ﬁﬁ%ﬁaﬁﬁ%aﬁ?mﬁﬁma‘maﬁw%?
(1) X T G Sfp T B [ (Z)WWW%WW
(3) FhEASSH | S=E (4)3qf1€rﬁmfﬁ

63.) Foreign income received .and accrued out51de India from a profession setup outside
Ind1a will be taxable :

(1) For Resident only
(2) For Resident and Non Re51dent only
3) For Resident and Not ordlnarlly resident only

(4) For Non-Resident only
W%W@ﬁwaﬁmﬁw%weﬁ?a}ﬁ?{aﬁqﬁﬁﬁgﬁ

ST A B
(1) Paet Fa & [T
(2) FrarEr AR 5 fq
(3)ﬁaﬂﬂ%maﬁ1mwﬁa@%wﬁa—§f
(4) B aAfEra & ke
.64. From which of the following countries the FDI inflows in India is highest ?
(1) UK - (2) France (3) USA _(#yMauritius

'ﬁwﬁiﬁﬁﬁﬁ%ﬂ%ﬂ@rmﬁmlaﬁlﬁaﬂaﬁaﬁmﬁ%?
(1) o o @wa () o e o (4) HRE

. MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(B) i S
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65. Who is the chief Economist of International Monetary Fund ?
o (1) Raghuram Rajan , (2) Gita Gopinath

(3) Arvind Kumar : (4) Shaktikant Das
TR a7 B B g arefoneh BT T 7
(1) g™ ™= (2) T AT
G gar - (4) R a9
66. Kinked demand curve explains : |

(1) Price flexibility ' ~ (2) Demand rigidity

" {3) Price rigidity i  (4) Démand flexibility
(1) 1@ am - (2) "I FHOREr

~(3) T HSRAT (4) HIT e

67. Wthh of the followmg theorles of mtematlonal trade can be better understood w1th the
help of opportunity cost ? | ‘ '

| 2 (1) Fundamental theory a (2) Factor endowment theory

(3) Theory of absolut_e ddvantage (4) Theory of comparative advantage

.Wmﬁmﬁmwﬁwﬁn@ﬁmﬁ%ﬁ?—w
TEAX YHAT ST Thal & 7

(1) A e (2) FRF FREET e

@) wf @7 # Rarw _(4)@61‘«'116425611‘#?5?1%@?

The process of increasing the contents of the job or dellberate upgrading of
@ responsnblhty, scope and challenge in work i is called :

) Job Enrichment. ' (2) Job Analysis

(3). Performance Appraisal /glr)“Job Enlargement

W#Wﬁmﬁm%ﬁﬁ%ﬁﬁmmmmﬁ

o B per oM ¥

(1y A6l e ) Hr Feereor

(3) st b i @) h Fghy

MPH/PHD/URS—EE-ZOI9/(Commerée)(SET—Z)/(B)
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69. Match List-I with List-IT and sclect the correct answer using the codes given below

and lists :
List-I List-1T
A. VED analysis 1. Capital structure
B. Fund flow analysis 2. Inventory Control
C. Return on Investment 3. Working capital management
D. MM Theory 4. Overall profitability
Codes :
A B C D
M2 1 4 3
27203 40 1
3)2 4 1 3
)3 4. 1 2. - |
@Il%mgﬁlmﬁrﬁmaﬁaﬁt?ﬁ%fﬁq@a@aﬁﬂ;ﬁzﬁrm
g1 R - 13
A. VED fredwor | 3 1. ol |Ler
B. HiY va® fw@wer 2. T PR
C. frasr o R 3. wprisier ol weEE
D. uq uq = - 4. THI ATAE .
&< -
A B C D
Mm2 1 4 3
2)2 3 4 1
32 4 1 3
@3 4 1 2

7_0.‘ In which of the followmg situation, the income ClaStICIty of demand will be greater
®  than unity :

’ (1) When commodlty is'a necessity ~ (2) When comedity is inferior
* (37’When commodity is a luxury (4) None of the above \"
ﬁ?ﬁ@(ﬁ?ﬂﬁﬂﬁfﬁmaﬁmﬁlﬁmﬁmﬁ?
(I)GIETER@QEBGTIETWT% () S agg B AR R
(3)ma§aaaﬁ(w)a’l?ﬁ% (@G@ﬁ«‘—fﬁ@faﬁéﬂ‘é‘f

- MPH/PHD/URS-EE-2019/(Commerce)(SET Z®). . e P.T.O.
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t. to decide and spend funds
e of management is

20

71. Panchayats in India have been given the P
granted to them for the welfare of Vi

highlighted in the above statement ?
(1) Unity of direction

~¢3) Unity of command fogqr 71T B
IRE § qErEd . B AR G/ FE AT : B 5 T
R e e Rt

& Frg Ry 9X UehIST ST AT 8 7 2 1%;
1) FEy &) whar (2) COREMIN
i . (4)%%@1@%@?@

© A (3) STIRIT W Tehdl
@ From tfe following infdfma_tion, identify the firm hgving least liquldlty :
| : 2.2 and Quick ratio : 1.6 - '

owers by the Govt. A
Ilages. Which princip

)

‘vision of work : .
(@) BvS dDeccntralizatlon

ization an B
(4) Centraliza o s AT 5 2 3

Current ratio '
(2) Current ratio : 2:2 and Quick ratio : 1.3
(3) Current ratio : 1.2 and Quick ratio : 0.6
(4) Current ratio : 1.2 and Quick ratio : 0.8 ‘
Prer I & B & HH ARl ai BH @ gEE A
(1) =g oTU : 2.2 3N ®@Rd eTgu : 1.6
(2) T SO : 2.2 AR @R AU ;1.3
(3) Ay STu : 1.2-8TR @Ra gy : 0.6
(4) T STPURT : 1.2 3R @R I1gaa ¢ 0.8
QO 73. If the price of any commodity decreases by 20% and the demand of that commodity
0/91 , increases by 40%, then elasticity of demand would be : . :
V \Y vV ‘r{‘(l) Unit elastic (2) Highly elastic (3) Poorly elastic _(4y"None of the above
,Yl,\ ﬁmm(ﬁ)ﬁmzo%waaﬁﬁ%aﬁrwa@aﬁﬁhM%
S g¢ Sl & | 99 ART & A 8rm

(1) 57 AR (@) 5= dER
(3) THF ArER (4) SR H | B &
74. Debt-Equity mix in capital structure is r nt according to which of the followiﬁ |
approach ? . E :
,'H’f Net Income Approach (2) Net Opf_:'rating Income Approach
| (3) M & M approach o (4) None of the above
ol G F RoT 99 e Prefafea & . T
Mg _ | 9 fra sfegor 3 AR
(1) g= o gl R (2)5@@:%%@%
T W AT @) S T Y B o

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(B)
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75. Low gearcd company will not exposc to which of the following risk ?

(1) Business risk . (2) Operating risk

3 Inflation risk (4) Financial risk

M Ao ol P shfesi § @ Reas aas § 78T omeh ?
(1) |ANR SRgH (2) gfEmem st :

(3) GETERITT 1 ST (4) R e

76. Cash flows arising from the transactions in a bank should be cla551ﬁed as resulting

from :

& &) Financing activities | i (2) Investing activities . ‘ -
3) Operatma activities (4) None of the above
%ﬁéﬁ—&?ﬁmaﬁaﬁﬁﬂﬁmﬁwmmm
ST =R .

(1) i nfafafeR T (2) FRsh ffafE
(3) uR=mer wffafEr (4) Suer F & B T

77. In case of admission of a partner, the entry for unrecorded investment will be : . g
(1) Dr. Revaluation A/c and Cr. Investment Alc |
(2) Dr. Investment A/c and Cr. Revaluatlon Ale
(3) Dr. Partners' Capital A/c and Cr. Investment A/c

(4) None of the above
%W%nﬁm%mﬁﬁﬁmﬁaﬁmmﬁamﬁqﬁﬁeéﬁﬁ

(I)WWW-QHW%QT@W
(2)2?31?%%%%@%3?@%@@

(3)%331?14@@@@@“{%7«%%%@@
(4) S 7 & FE T |

78. Grouping of activities on the ba51s of product lmes isa part of :
(2) Functional orgamsatlon

(1) D1v151onal organisation
4 Group organisation .

(3) Autonomous organisation
‘mm%wmwﬁﬁfﬁﬁmwm@m%
(1) gorilg e &I (@) e W
(3) @ G I 4 wg:e: IS Bl

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(B)  B.T.O.
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79. Under which of the following training methods, employees arc trained on the dummy
" model : _ _
(1) Induction training "~ (2) Internship training
/(})/Apprentlceshlp trammg : (4) Vestibule training ,
mﬁﬁmmwﬁ%aﬁmﬁﬁaﬁaﬁquﬁﬁ%m
Srar 3 7 V
(1) SRR SREoT (2) e mfRrEer |
(3) SR SREET (4) sehrs SfRwTT
80. Which of the following i  method of direct marketing ?
~ (1) Fliers (2) Phone calls
(3 ) Text messages 4y All of the above
P § @ SF-d gwer fos @b R g 7
(1) wad | _ \ (2) B I
(3) I = | 0 (4) SudeRT @

81. Which of the following’i_sin.o_tla‘ part of Carrols' four part model of corporate social
responsibility ? - , . |
(1) Economic (2) Legal Q&Y Discretionary  (4) Political
ﬁw%f@ﬁﬁﬁaﬁﬂ—wéiw@mols)ﬁﬁﬁawﬁ%ﬁ%@mwww

_ﬁTEFI'EFT%'R:IT?'éT%? .
(1) T (2) TR (3) FRwE (4) TR

. 82. Which of the following agreements are declared void under Indian Contract Act ?

(1) Agreements in restraint of marriage
(2) Agreements in restraint of trade
(3) Agreements in restraint of legal proceedings
(Al of the above
Wﬁ%m—ﬁmqum%maﬁmm
mq
) o B T ¥ FEa
) |ANR & @99 § ' B

 (3) FE FREE & Had A wﬁlﬁ

(@) ST |/

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(B)
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83. "Ahy Employee found using Whatsapp in the office will be penalised" Identify the type
of plan : ‘
/Q')‘RUIC (2) Strategy (3) Policy (4) Procedure

«praieT ¥ BTCHTT H G FC AR RRE W A B AN B THR
P TBIH HA B [T ST fpgT ST

ORERL (2) oY (3) fx (4) Hrafafey
84. Judging people on the basis of the characterlstlcs of the group to v Wthh ‘they belong is
called :

1) Halo effect (2) Stereotyping  (3) Attribution (4) Inference

@ﬁaﬁww-zﬁhﬁwﬁ%wwm,m%m%m,w
% ' .

(l)qusasrma (2)*@%@@ . /(S)Wl (4) Iga™
85. The rate of GST on gold is : . | |

(1) 8% @) 5% _3)10% 4) 3%
, A o T A e R _ R
N (O I R ) % 0 () 10% (4)- 3%
~ 86. Out of the followmg identify Intellectual Property Right :
A @ (1) Plant variety rights . -~ = (2) Geographlcal mdxcatlons
. _43) Industrial design nghts 2 g o @) Al of the above
e & @ e oo ¥ 8 ¢
(1)&@:%-%&:?3@@1_ ] (Z)WW
(3) 3Menfes e aqfhasr{  (4) Sudw g

/
8@ Which of the following is best indicator to determine whether the value of country's

currency is appreciating or depreciating ? i
(1) Balance of trade . e (2) Balance of payment
}})’ International trade ‘ -(4) None of the above

Wﬁﬁ%—mwﬁ%ﬁ%mmmaﬁm%ﬁs%ﬂ
'ﬁgmwwmmw%mﬂﬁ

| () =R B @ FgEmw
g (3) ST &R - mwmﬁmmw |
i MPHIPHD/URS-EE-2019/(Commerce)(SET-Z)/(B) 8 . P.T.O.
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Q)

90.

91.

9
nel is most suitable for consumer goods ?

Which of the following distribution chan |
(1) Two level channel /Ei))/g?::;lz}‘l’s;:lame |
3) One level channel .
gﬁ%;‘%ﬁ%mmﬁ@aﬁﬁ—wwaﬂamﬁm |
(1) ¥ WA o= - (2)%@”@%
(3) T T A9 (4) e A

- i i includes :

's co-efficient of correlation assumptions do not inc _ -

E;I’ILIEZZT:;;O i (2) No cause and effegt.relatlonshlp
(3) Normality s (4) All of the above ,
it R & ey @ aRen & o o e 78 B Br
(1) Yo wpiar (@ B HRET SR g '
(3) TR STgEn : (4) IUERT 9 _

Uﬁder which of the following methods of performance appraisal many cvaluatc?rs join
together to judge e};lployces' performance in several situations using variety of
criteria: X

,@’)/ Managemént by objectives (2) Critical incident |

(3) Assessment centre . (4) Allofthe above ,

FB F RAFET § HHARET B qeeH B FE HA B AL T AT A
() RW S gRITE 0 (2) TEEE! T

(3) Sira &= _ ' (4) ST a@el

Match List-I with List-II and fseleci:t the correct answer using the codes given bcfow
and lists : » | |
- List-I - _ . . List-II :
~ A. Rightto beinformed L. Right to acquire knowledge to be an .

Informed consumer |

B. IRight to consumer education 2 Right to know MRP, date of expiry etc.
C. Right to safety 3. Right to get relief if product does not
meet expectations

D. Right to seek redressal h 4

Codes : . 3 Right to bé protccted against unsafe prgdu%s

B C D

e
M2 e 43

@22 3 4 1°
G2 4 1 3
@3 4 1 2

MPﬁ/PHD/URs-EE-zm9/(C0mmerce)(SETLZ)/(1§). &
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?ﬁ'll%m@-lwﬁwﬁﬁeﬂtﬂ%ﬁq@?@aﬁt@wm

HTH TEl I g ¢
T g
A.qam%%aﬁreﬁb‘aﬁr- 1w g SodeT 8% & R o
. | T A T SIRPR
B. ST R 1 o 2, qrewrd (ai) onR Ry @,
€. g 1 TR 3. AR S oTdEmeTt Y T T Fwar
D. FaReT =& o1 siferepr 4. ST SN - TG B ATHR
A B C D \
Mm2 1 4 3
@2 3 4 1
B2 4 1. 3
@3 4 1 2

92. The non-performing assets are classified by banks as :

Sub—standard assets, doubtful assets and loss assets

i (2) Doubtful assets and bad debts

¢ (3) Standard assets and sub- standard assets -

(4) Doubtful assets, loan assets and bad debts

W frsafe R A ¥ Ey EPﬁW ﬁb‘m ST B

(1)3'5{‘?171?5811% Hﬁwmﬁraﬂ'{aﬁfmﬁr

(2) @R GuRy ok @R WO

(3) A% WaRy X IY WG RS

(4) dfevg dufy, azvrmﬁraﬂ'(wsm'

MPH/PHD/URS EE-2019/(Commerce)(SET Z)/(B) o SR b s v P T O,
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93.

94.

B

x ‘ : iven below
Match List-I with List-II and select the correct answer using the codes, g ‘

and lists : :
ListI : © ListIl
A. Friendship Safety needs‘
B. Personal fulfilment Affiliation needs

C. Stability of income Esteem needs [7-(
D. Status Y Self actualisation needs
Codes :

A B
2.1
22 3.
B2 4 .
43 4

@-H%m@-lmﬁaﬂﬁ@?:ﬂ%m@@aﬁﬂﬁww

-l S il

4

T e

D
3
1
3
2

g I
A BT 1. gI&T & SAELIHAT
B. =R Oft 2. HIEAl H SAELh
C. s & Rexan 3. 91 FEBN /AT
D. Rafd ~ 4. oTA fALAYOT & HATILIhAT
%< - : ‘

A B C D
M2 1 4 3
@2 3 4 1 ;
G)2 4 ‘1 3
@3 4 1 2

In which of the followmg market several large banks accept deposits and provide loans
in various currencies ?

(1) Euro credit market Mum éurrency market
(3) Foreign exchange market ~ (4) Euro bond market

ﬁwﬁ%ﬁﬁﬁﬁwwﬁaﬁ‘a@%m |
gmreT F T waH #ed ¥ 7 | WW%@TW

1) IO #RT ImR (2) T & IR

(3) frer fafra &R @) Ay TSR

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(B)
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95. Which of the following technique is used for forecasting ? | 2 @

/(,17, Regression analySis ' | (2) Corrclation analysis
(3) Cluster analysis , (4) None of the above
TG B R Prerfiee ¥ & R aoies 1 9w ot o & 2
- MY SR, R () FewE Fers@reroT
Q) wE Redwr (4)aﬁaa%f%rﬁ%=r%’r'

96. The best hedging technlque when the amount and timing of forelgn currency outflows .

- arc uncertam is tO

M Buy a call option | | (2) Buy a put option

/ ) Enter into forward "c‘ontract' ' .(4) None of the above
mﬁmm(mm)aﬁmmﬁ%aﬁgmaﬂwahw
'(l)waﬁaﬁmaﬁ% (Z)ga(m)ﬁam@ﬁ%

3) o orgeer F a5t HX 0 (4) IWF F q Fg

97. Which of the fdliowing is mot correct about pfovisions of FEMA ?
1) FEMA is 51mp11ﬁed compared to FERA hox
2) It dlstlngmshes between current account and capital ac?ytranséctions

(3) Itis meant for regulatlon ef fprelgn exchagge .

- . (4) None of the above
ﬁwﬁiﬁaﬁﬁaaﬁw—mwwEMA)%mw%aﬁﬁmﬁ FIE:?‘ 27

-(1)%(FERA)ﬂgamﬁ%m(FEMA)W% |
‘(Z)WW@maﬂTgGﬁmaﬂa?%‘iﬁﬂwm%
(3)%%&%1@1%%%@%
-(4)3@?%13‘13%5‘@

- MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(B) -, P.T.O.
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~ -98. Under which of the following technique of Price Level'Accounting, various items.of
balanceé sheet and profit & loss account are 5&jﬁsted with the hclp of general price
index prepared by RBI :
(1) Current value accounting technique
(2) Current cost accounting technique
(3) Current purchasing power technique
(4) Replacement cost accounting technique ‘
W@aﬁmhﬁwgﬁqwﬁwﬁa@mm(ww)
aﬁrm—aﬁf@ﬁaﬁﬁﬁaaﬁaﬁw'a@—ﬁh@ﬁwﬁr@ﬁaﬁzﬁﬁ%
fohas dea fear ST B 7 '
(1) A o9 AQihT dH-1h
2) T AT ST T
- (3) adu A afE aENE

(4) TRTENYS AP AT TS |

99. As per Atrticle 6 of Agreement on Agriculture (AOA), which of the following are most
trade distorting box and subject to reduction commitments ?
(1) Amber box : (2). Green box
(3) Blue box - AT All of the above
ﬁwmﬁ%%eﬁ?@z6%‘w,ﬁwmaﬁé®?—mwﬁ%
FTT A qE 2 AR Hede (Rraard a1 qeresan) &9 a5 3 o 2 7
(1) sfe 7. f - ; @) ® 1 Rar
G) M H R (4) Sede @

100. Initial Public Offerings (IPOs) are a paft of which of the following market ?
E . ) Secondary market | }2} Unorganised market
- /(’If Primary market ' (4) None of the above

S e e FreRe # 3 R A o 8 7
(1) e aome (2) srERT TR
(3) T T | @) SR ¥ ¥ B g

'MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(B)
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<. When a firm is able to sell more quantity of output at the same price, then ?

(1) AR <MR (2) AR>MR
(3) AR = MR : (4) None of the above
Wwwwﬁmwmwﬁnmmﬁﬁam@?ﬁ%
(1) AR<MR (2) AR>MR
(3) AR =MR @) ST ¥ o
2. Which of the following is objective of tax planning ?
(1) To curb tax evasion (2) Shield against high taxation
(3) Avoidance of itigation (4) All of the above -

"ﬁmﬁrﬁﬁaﬁ%aﬁ?aﬂﬁﬁmm@%m%? :
(l)ﬂw?ﬁﬁwaﬁﬂwﬁ%m (2) S HUE B RO ST
(3) FHATHH & F=E (@) Sude e

3. Foreign income received and accrued outside India from a profession setup outside
* India will be taxable :

(1) ForResidentonly . " .
t2) For Resident and Non-Resident only | ' ‘
(3) For Res1dent and Not ordmarlly resident only :

(4) For Non-Resident only

W%W@ﬁéﬁ?%&ﬂ%w%wvﬁ%aﬁﬁaﬁﬂéﬁ%&ﬁ
STEHT Jrg BFN 4 -

(1) Fa Fard 3 R

(2) PR o) s 3 i%rq | |
(3)ﬁm%meﬂrmmﬁvwﬁa@%mﬁﬂ€r
(4) Fas AtERg 3 R -

4. From which of the following countries the FDI inflows in India is highest ?
(1) UK ' (2) France '(3) USA (4) Mauritius
ﬁmﬁ@aﬁ@rﬁm%ﬂémﬁrmlmmﬁm%? \
M S Ho (2) s 3) 10, ¥ THo To  (4) wifkera -

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(C) P.T.O.
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@ Who is the chief Economist of International Monetary Fund ?

(2) Gita Gopinath

(1) Raghuram Rajan
(4) Shaktikant Das

(3) Arvind Kumar
SRS AT Y & g oyefened) B & 7

(1) I =T (2) *ar MY

(3) SRfdT FAR  (4) AT S
Kinked demand curve explains : | ' ‘
(1) Price flexibility (2) Demand rigidity
(3) Price rigidity‘ P (4) Demand flexibility
T J61 % sa % ‘ |

(1) 39 = | (2) |FT ST

3) T FERCAT N O S

Which of the following theories of 1ntemat10nal trade can be better understood with the
help of opportunity cost ? '

(1) Fundamental theory \
(3) Theory of absolute advantage /(4) Theory of comparative advantage
mmﬂﬁmﬁmwﬁwﬁ#@a%@?ﬁﬁ%%ﬁ—
TR EEIST AT S P

(1) A R " 2 B aa"taz%ﬁ ESE=1a]

3) Tof @ 1 ResT | | ' |

The process of increasing the contents of the job or deliberate upgradmg of
responsibility, scope and challenge in work is called :

(2) Factor endowment theory

(1) Job Enrichment , (2) Job Analysis

(3) Performance Appraisal (4) Job Enlargement
Mﬁmﬁﬁaﬁmﬁ%%mﬂmmeﬁrmﬁ
AR Bl T S g

() s GgeT ) Eb'ral ferqdeor

(3) yast= &1 g @) Hh F ghe

| MPH/PHD/UR-S-EE-Z(H9/(Coinmerce)(SET;Z)/(C)'
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9 Match List-I with List-IT and select the correct answer using the codes given below

and lists :
- List-I . ’ List-I1
A. VED analysis 1. Capital structure
B. Fund flow analysis 2. Inventory Control
- C. Return on Investment 3. Working capital management
D. MM Theory 4. Overall profitability
Codes :
A B C D
1.2 1 4 3
2)2 3 4 1
B)2 4 1 3
@3 4 1 2 .
@-II%W@-IW%HH%W%%Q@?W@WW
TP T IO G ¢ |
g1 . -1
A. VED Rigaor I N s
B. FIY yare fasaser 2. g R
C. Ry ) gisa 3. i Go wefes
D. @7 @q s 4 S SR
g " et ey -
AB C D ‘ -
M2 1 4 3
@2 3 4 1
B3)2 4 1 3
@3 4 1 2 |
10. In which of the followmg situation, the income elastlcxty of demand will be greater
than unity : : '
(1) When commodity'is a necessity © - (2) When commodity is inferior
(3) When commodity is a luxury - (4) None of the above
ﬁwﬁ@rﬁmﬁﬂﬁrﬁwaﬁm@ﬁmﬁmﬁﬁﬁ?
(1) o1 o%g O TEeTwaT & (2) o awg P A B
'(3)aaa?gam(w)a?ﬁ% (4)mﬂaﬁﬁ@r®éﬂ‘eﬁ
MPH/PHD/URS- EE-2019/(Commerce)(SET-Z)/(C) CNRI  14 .+ B.T.O.
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11.

12.

13.

14.

15.

4P's of marketing were developed by :

(1) Mc Carthy (2) Henry Fayol °

(3)-J.R. Betty (4) None of the above
4P % fouvr ERT fAfhad /5y W & -

(1) Fepredt () ¥ oA

() So aIRo & (4) ST & § B 7l
Which of the followmg isa non-tarlff barrier ?

(1) Quantity restrictions N ) Forelgn exchange restrictions
(3) Preferential arrangements - (4) All of the above
ﬁ%ﬁ%%—m@hmw%?

(1) == sfRET © 0 (2) R gET ufey

Q) TG Fawer  (4) Iw0 @

Which of folloWing is enot a negotiable in;trument ?

(1) Dividend warrants ' ~ (2) Cheques

(3) Share certificate . (4) Promissory notes '
ﬁﬂ%ﬁaﬁ%ﬁw—wwquaﬁ TET B T

(1) |THigT aRe ) % ‘

(3) SR gHTOTIH : (4) F==1 9=

Out of the following, which is the latest buzzword in banking industry ?
(1) Branch banking | (2) Financial inclusion |
(3) Mass banking ' (4) None of the above
Frfafaa & @ e ST SR # e g =@ ®

(1) =% sme@r ' . (2) felg wwRe=

@) = T w e (4) STRT & § B T

Which of the following is not appllcable to 'One Person Company' 2
(1) Its paid up share capital should not exceed Rs. 50 Lacs.

l (2) It can be formed for charitable purpose also

(3) Its average annual turnover of last three years should not exceed Rs. 2 crore

"(4) One person can form only one company

MPH/PHD/URS-EE-ZOI9/(Commerce)(SET-Z)/(C)
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T F R P Ay P oA S A 2
(1) 6H1 3= (¥e) sisr Eoit 50w 503 & oife =& -0 =1RT
(2) 7' wAid SR & Riw o s=mn o @@ @

G) Rt 3 adt =1 s ol aftes T 2 s 5 & o 8 T

(@waﬁamwwaﬂm%

16. Which of the folIowmg is the most appropriate source for financing investment in new

machinery ? -

(1) Trade credit T e | (2) Account payable

(3) Bank overdraft | (d) None of the above ‘

;éwsﬂﬂﬁﬁﬁ%m%ﬁﬁﬁﬂw%mmﬁwgaaﬁaﬁwﬁazﬁ#—m

?

(1) &I9R =T @ am

3) ¥ SNaRgE @) sl @ B
17. SEM used in marketing means : - | . |

(D) Sales-eam-mohey (2) .Save-efﬁciéncy-money :

(3) Scafch—engine-rharketing (4) Any of the above

_ qﬁ%Tﬁ@#(SEM)ao‘rqﬁFTs’lﬁT%
(1) Rt ¥ T - (2) e FET S
@) @ @ Beem . (4) SweE ¥ 9E O

18. "It refers to that level of EBIT, at which the EPS remains the same irrespective of
~ debt equity mix". What is referred here ?
. (1) Break-even poi.r')t | £ 2 Financial indifference point
(3) Cash break-even point - " (4) None of theabove
ag EBIT & o8 &} &t daifa &ear § | 93 EPS =0T siadr Risror & |9

(I) wm-ferede Rig . . (2 foxig SeRIE R
(3) 7 GH-faese foig (4) SURERT H § HIg el
MPH/PHD/URS-EE-ZQ19/(Commerce)(SET-Z)/(C) 7ot . Ee . P.T.O.
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. 19. Doctrine of caveat emptor means : ,
‘ (1) Let the buyer beware (2) Let the seller bewarc
(3) Let the Govt. beware (4) All of the above
HIAIE X B ST F1 Aaed © ¢
(1) TeTt B A & ¥ ) R @ e @ 2
(3) R H AEYF B I (4) SureRT a4t
20. According to Walter Model if r > k, the optimum pay-out ratio will be :
(1) 20% (2) 100% (3) 50% @ Zero
aiex HisT & STgER >k &, & gweq T Srgud e
(1) 20% (2) 100% (3) 50% 4) =

21. Which of the following is not a part of Carrols' four part model of corporate social

responsrblhty ? 4
(1) Economic (2) Legal - (3) Dlscretlonary (4) Political

ﬁﬁﬁ[@ﬁﬁ%ﬁ?—ﬁﬁﬂ(Oanols)ﬁﬁWﬁ%ﬁﬁwaﬁrmm
mwﬁwaﬁ%? o
(l)anﬁhs (2)aﬂ=ﬁﬁ (3)1%@!25@:{ (4)21\—r|=ﬁ1%25

22. Which of the followmg agreements are declared void under Indian Contract Act?
(1) Agreements in restraint of mamage '
(2) Agreements in restraint of trade |
(3) Agreements in restraint of legal proceedings
(4) All of the above -
ﬁw%ﬁmﬁﬁﬁw-ﬁmﬁ%ﬂm@qaﬁm%mwmaﬁ;&
g E?
(1) Y B I F gEsa e
Q) @OR 3 999 F e
(3) Hr FREAE & daq H wsﬁ%‘r

(4) SuAerT G
- 23. "Any Employee found using Whatsapp in the office W1ll be pen WA
" ofplan: - o allsed Identlfy the type
(1) Rule (2) Strategy (3) Pollcy (4) Proce dure

_“Wﬁ%ﬁﬂ@ﬂ@iﬁﬂﬂﬂ%aﬁﬁﬂﬁ%ﬁmn ' -

;  (1)1=3qu - @y @) Ry '(-4)‘ :
MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(C) - ) Pty
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24- Juiilg;ng people on the basis of the character1st1cs of the group to which they belong is
calle

(1) Halo effect (2) Stereotyping (3) Attribution (4) Inference
@Pﬁaﬁwwaﬁﬁmaﬁ%wmwmﬁﬂﬁam% el ST

B
(1) s9Hsq o9 2) Eieasar
C(3) TR . (4) ST
25.  The rate of GST on gold is : ‘ ‘ |
(1) 8% e (2). 5% 3) 10% 4) 3%
TR aH e . .
(1) 8% @ 5% () 1% (4) 3%
_ 26. Out of the following identify Intellectual Property Right:_ '
(1) Plant variety rights - . (2). Geographical indications
(3) Industrial design rights (4 Allofthe above
FrfaRad # @ <ifes awuw T@ @ - A
1) 9 B RRE sfmr. () R W
(3) MeNfrs oo SAfREER (4) SIAFT G

 27. Which of the following is best indicator to determine ‘whether the value of country's
currency is appreciating‘or depreciating ? R ’ ' |
(1) Balance of trade a; (2) Balance of payment
(3) International trade - @) None of the above
ﬁmﬁ@ﬁﬁ%ﬁﬂ-wwﬁﬁﬁﬁmﬁ%mmmm%%%ﬂ
ol TET T Hed AXIET A1 qIEE § AT e

(1) MR & g7 Q) g 3™ |
(3) TR AWK . *(@Gﬁﬁﬁﬁ@tﬁéﬂﬁ
28. Which of the following distribution channel is most sultable for consumer goods ?
(1 Two lcvel channel . (2) Three level channel
(3) One level channel . . (4) Direct channel '
Wﬁﬁaﬁ@%mﬁwﬁ%ﬁﬁ@aﬁﬂ—mﬁmw%ﬂamaw%? |
S () & = e | (2) 9 wQT ==
(3) T Wi A9 - 4 @ %ﬂa

' MPH/PHD/URS EE-2019/(Commerce)(SET-Z)/(C) - P.T.O.

Scanned by CamScanner



8

. . i 10t includes :
29. Karl Pearsons's co-efficient of correlation assumptions do r

(1) Linear nature (2) No cause and effect relationship
v(3)»Normlality % :
mmﬁ%ﬂmuaﬁwn%mﬁsnﬁaﬂﬁ v iy
(1) e wpfy (@) @E HRET SR FEE T
(3) WTEROT Sfereen (4) Surerd A

30. Under which of the following methods of performance appraigal many ‘evaluau’)rs join
together to judge employees' performance in several situations using variety of

4) All of the above

criteria : A ’
(1) Management by objectives (2) Critical incident
(3) Assessment centre (4) All of the above

mﬁw%ﬁwﬁ@amﬁﬁmﬁmwm
maﬁﬁuﬁﬁﬁ'mﬁ!ﬁwmﬁﬁwwmﬁﬁmwwaﬂﬁﬁ

(1) SR & @ wEew | (2) Aewge ge
(3) ST &= S © O (4) ST gl

31. Which of the following test will be appropriate for judging' the significance of
difference between the means of two samples, when sample size is less than 30 and

population variance is not known ? . _ |
(1) f-test (2) t-test (3) z-test (4) None of the above |
Preifofed & & Be-a1 qeer & TR F @ A" o R $ Hew @
geare % R SUZHRT &9, S T AR 30 ¥ FH ¥ IR swiEr frar

(1) f-gdegor n | (2) t-adEeT | -\de? {
. (3) z9dEeT - @) SR § ¥ S 95 ».,;&3
| i (\/\\

32, Suppdse in a box of 80 bulbs packed, the mean number of defects per box is 03 'T§e'
. percentage of bulbs without mistake will be : W

) 12% | (}f 54% 3) 4% @) 80% .
AW ARTT B W T 80 ISt B U o F, R e A 3 ohe der
0371 99T TToreht B Seit BT i B C k '

() 12% (@) 4% . (3) 1A% (4) 80%

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(C)
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33 In which of the following situation bailment cannot be terminated ?
(1) Doing an act consistent with terms of bailment
(2) On expiry of period
(3) At the desire of the bailor
(4) None of the above
ﬁmﬁ%mmﬁwmﬂﬁa&mm%?
(1) ST @ gat & oTgEd B HIAT
(2) sraty = g X
(3) SHFTER & =BT W
(4) ST 7 q Hig A&

34. Which of the following is m(;st widely used method of calculating correlation ?
(1) Scatter diagram - "~ ~(2) Linear method |
(3) Charles Spearman's ' (4) Karl Pearson's ' N\
ﬁmﬁ@aﬁ@faﬁw—ww—wraaﬁmm%ﬁmwﬁmmﬁ
YA P S aren @ w7

(1) s RE @ Y AR
(3) T ROFRAT | _ (8) @t fEET

35. Where products are comf)lementéry to each other, the shape of indifference curve will
be like English letter ? 2 '
(H)N ‘2 P 7 (3L / @ M
mm@@%waﬁ% JEl SSNAAT g5 BT SHR SASH &R
Srar B : o . -
(1) N @ P L @M

36. Monopolistic competition is a mix of which of the following ? -
(1) Perfect competition and ohgopoly ' '
(2) Perfect competition and monopoly
3) Oligbpoly and monopoly i
i(4) None of the above :
THIRERIR Afer AT ﬁﬂﬁﬁgﬁ ¥ q Rpaemr o ¥ ?
(1) T’f nﬁzhﬁ'aT MR STUIfEEpR
2) ot sREAfET I THIEHT
(3) TeRER iR qm’rﬁtm
(4) SuET F q B A

MPH/PHD/URS-EE-ZO19/(Commerce)(SET-Z)/(C) P.T.O
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37. Which of the followings is nof an \(\)bjcctivc of Cprhpctitioﬁ Commission of India ?

(1) To promote monopolies |
(2) To create competition fund
3) To psotect fhe interest of consumers
(4) To curb negative aspects of compctition'
W@aﬁ%%w%nﬁﬁﬁmmﬁwwaﬁm ﬂa‘? 27
(1) THRBR @ FgrEr 37 & g
@ SRR Gl RIfer ST & g
(3) SUNlRTSAT & T W /B R
(4)Hmﬁm%qu§eﬁq?a@ma?ﬁ%m

38. Charging dlfferent prlces for the same product from different customers is called :
(D Double pr1c1ng 51 : (2) Cychcal prlclng
" (3) Transfer pricing ny 4) Prlce discrimination

W—W%ﬁ%%ﬁw%mw:wmaﬁmmw

2 : _ .;
(D) @7 e Frafer - (2) @ g R
(3) s T (4) T Ao

39.. Anindifference curve is always :

(1) Concave to the origin (2) Convex to the orlgm \M
) A horizontél straight line. (4) A vertical stralght line \'&'I\)\
T ST T Bi’rsm Gl %

(1) SwRy & erea " (2)'@%%@@ |
(3) T %i%m e @ (@) A wa‘ferf et %@n

MPH/PHD/URS-EE-ZO19/(Commerce)(SET Z)/(C)
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40. Match List-I (Accounting standard) with List-II (Relatioﬁship) and select the correct
answer using the codes given below and lists : '
List-I List-IT
A. AS-6~ 1. Accounting for consolidated financial
| statements
~ B. AS-12 ’ 2. Accounting for fixed assets |
C. AS-10 \i Depreciation accounting '
D. AS-21 . _ Accounting for Government Grants
Codes : . , -
A B C D
2 4 3 1
)3 4 2 1 |
34 3 1 2
@1 2 3 4

@‘_I . P 'Q\?ﬂ'n i

- A. AS-6 1
B. AS-12 2. Tae SRl %ma
C. AS-10 3. e AT
D. AS-21 4 HWF&GW%%I’Q%@TEFT
Za :
A B C D
(2 4 3 1
23 4 2 1
34 3 1 2
@1 2 3. 4 |
41, The practice of recordmg depreclatlon is due to which of the following concept
| (1) Money measuremcnt concept (2) Entlty éoncept
(3) Going concern concept ‘(4’) | Mz;tchmg concept
R geaer &1 o el # & e ofaerem & HRT w7
(1) &9 AT Hehed T o (Z)sms‘affam ¢
(3) TR Hrad STaETeT (4) e 6 STEEREm

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(C) = = o P.T.O.
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42. Set of marketing tools that a firm uses to pursue its marketing objectives in a target

-

market is called :
(1) Product mix (2) Marketing mix

(3) Promotion mix (4) All of the above
mewﬁ?ﬁWT&qwﬁmﬁW@%@@m
g™ & T ITANT HAT 8, 9 HET A7 ¥

(1) S Heror | (2) fargqor feysyor
(3) s s (4) Sug= |

- 43. After reissuing all forfeited shares, the credit balance remaining in forfeited share
account, is transferred to : )
(1) Capital Reserve (2) General Reserve
(3) Share Capital Account ~ (4) None of the above
Tt 9= R 1 R W R A o e & 9rs, SRl 9] T § AT woOr
A MY Hr ARG R Sar §
(1) =iy By o (2) | B
() &R T @ - 4) ST § § A T8

44. In an orgahisation regardihg' particular batch the rejection rate found was 6% against
the set standard of 4%. The management. found that it “was due to the negligence of —

' quahty control staff. Which step of the controlllng process is referred here ?
(1) Measurement of actual performance

- (2) Analysing deviations
(3) Comparing actual performance with standards

(4) Taking corrective measure

ﬁﬁw%a%aﬁﬁwwﬁemﬁgﬁarméﬁmﬁ?aw%wﬁ
6% o, Wm%w%%mﬁmmﬁﬁﬁm%w
a7 | =T gfshar & P9 =ReT %y TEf E’cﬁiﬁﬁmw%?

(1) ardfas geei= @1 A9

2) e @ fRsAwor
(ﬁW%m&rarwﬁmu@haﬁwm
- (4) g9 SUE I

MPH/PHD_/URS-EE-ZOI 9/(Commerce)(SET-Z)/(C)
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45,

46.

47.

48.

49,

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(C) ¢

Kaizen costing is applicd to a product that is : o
(1) Produced ~ (2) Ready for sale \J<
(3) Sold - ~ (4) Under process for production %/%%
FI AR U IR UL A FpAT o ¥ | CO |
(1) SaRe . S 12~
3) Repa 2 (4) S SR & ot # 25
Dividing the market on the basis of personality of consumers is a part of : p ;{ e&g 5 %6
(1) Demographic segmentation (2) Geographical segmentation PR
(3) Psychographic segmentation (4) Behavioural segmentation ‘
'wﬁwaﬁ%aﬁaa%enmwwaﬁﬁﬂﬂ%ﬁm@m% LQ';B‘,A
(1) s fvem &1 (2) Arifees e & %17?{’35
(3) TR R W (4) ZFETT RHsToT BT S0
Working capital Rs. 6,30,000, current assets Rs. 8,40,000 and mventory is Rs.4,00,000
(including loose tools of Rs. 1,05,000), what will be the current ratio ?
(1) 4:1 @71 , - (3) 51 4) 61
BriSiIeT SN 6,30,000 T, aﬁiwqﬁm 8,40,000 BT e TART G 4,00,000 T
(1osooom%mq%a)aémﬁa§mawaw? S8
(1) 4:1 @7 BN €) J-H S (4) 6:1
‘Which of the followmg is not a feature of services.? »— W A ){ 2
- (1) Perishability - o (2) Inseparablhty 73 g _5/
(3) Homogeneity , R *(4) None of the above
ﬁﬂfﬁﬁaﬁﬁ@raﬁ?—xﬁwwaﬁﬁﬁﬁﬁraﬁ%? | ‘ > as
(1) sz | Gy s ’ @’% %GQ)
(3) QST I (@) SR § g T8

X and Y are partners shafing proﬁts and losses in the ratio of 3:2. Z is admitted for .1/5th ,L%
share, which he gets equally from X and Y. What will be the new profit sharing ratio ?

(1)532 (2)624 (3) 5:4:2 (4) 4:3:2
X AR Y 3: 2%a@mﬁw@1aﬁmma@mm%|zﬁlls
wW%%ﬁﬁmm%lﬁ@XaﬂTYﬁwmﬁm%l

T T HEERRET STgATT T BN 7 : § o »
(1) 5:3;2 @624 0 (542 4 4:3:2 '
P.T.O.

J&%.?!&& %@ﬂ
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50. Which of the following allowances are partly taxable under Ineome Tax Act ?
(1) Special compensatory allowance (2) Children education allowance

(3) House Rent allowance (4) All of the above
FreiRifad & @ BI-81 91 TR eififr & qed ofiRs ©9 & H AT
g 7.
(1) R@ sRgE s () == @ R |
| (3) A fHmET W (4) ST A+
- AH1. Match List-I with LlSt—II and select the correct answer using the codes glven below
and lists : ‘
List-I ' : ~ List-II
A. Right to be mformed | 1. Right to acquire knowledge to be an
\2' Informed consumer ,
B. Right to consumer education 2. Right to know MRP, date of expiry etc.

Right to get relief if product does not

C. Right to safety. 3.
\‘<¥ meet expectations '
D. Right to seek redressal —— - Rightto be protected against unsafe products

Codes : _
A B C D

M2 1 4 3

@2 3 4 1

B2 4 1 3

@3 4 1 2 - |

@-II%W@-IWWH#@T%%Q@?@@T@WW

s gEH SR -tiﬁ-II ‘ -

A GET I BT oARBR l.wqﬁ:ﬁwﬁweﬁ%%&ﬁﬂ'

" B. Iusiier e & st 2..wm'{’r(wﬁﬁ)aﬂf%ﬁ‘fférﬁ
THIRUN STFE T ST

- C. gl &l SR | 3. aR SeE oTESl B ux At par
, . ® @ T 9N @ SRR

D. faReT =y &1 sfER 4, AT SORE A F= T B atfermy
A B C D

M2 1 4 3 |

@2 3 4 1

32 4 1 3

@3 4 1 2

- MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(C)
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52. The non-performin

15

g assets are classified by banks as :
(1) Sub-standard assets, doubtful assets and loss assets
(2) Doubtful assets and bad debts

(3) Standard assets and sub-standard assets
(4) Doubtful assets, |

0an assets and bad debts o
RAE L Sl o N ary g foam s ©

(1) SU 7916 dufty, Ry dufy ofx aify d@aiy
(Z)Waﬁqﬁfaﬁ-{@mq{q
() 7% TR IR I " woRy

(@) WRY R, ST Ry ol R T

53. Match List-I with List-II and select the correct answer using the codes given below
and lists : AR ' -k ‘ : '
List-I _ b ik List-II .
A. Friendship o7l gt 1. Safety needs -
'B. Personal mlm Affiliation needs
C. Stability of income‘\TESteem needs
D. Status | ' - 4. Selfactualisation needs
Codes : . 4 '
A B C D
M2 1 4 3
22 3 4 1
®»2 4 1 3
43 4 1 2 N : '
TR % e G-l 1 e oIk I RY T e o) gl B oswEm
g1 T Tl |
A T | 1. GO @ STEsgsan
B. afkra o S 2. ASSEl B STELERdl
C. o1 i Reran 3. S g /ST .
D, feffy | 4. I fIANOT H SIS
%z' .-'  : ] ! |
A B C D
m2 -1 4 3
@2 3 4 1
32 4 1 3
43 4 '1 .2 : o X g ‘
MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/((C) =~ " * P.T.O.
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54. In which of the following market geveral large banks a
in various currencics ?
(1) Euro credit market
(?p/Foreign exchange market
Prfafad § @ frg S # @8
garedl # ROT ga R 8 7 .
(1) T BT TR (2) Z AT TR
(3) fa=sr ﬁﬁm:r CINIES (4) UIT AR

55. Which of the followmg technique is s used for forecasting 7.
(1) Regression analysis (2) Correlation analysis -
(3) Cluster analysis , (4). None of the above’
W%%ﬁﬁwﬁm%\ﬁﬁwaﬂzﬁaﬂw@ﬂﬁmm%?
GRICUCERCESEGE | (2) Teddy LT
(3) wIE faAweT ' o (4)3@%‘3@{2@%?@

56. The best hedging technique, when the amount and timing of foreign currency outflows
are uncertain is to :

ccept deposits and provide loans

) Euro currency market -
(4) Euro, bond market

@%w@wmﬁ%ﬁ?ﬁ%

(1) Buy acall option . (2) Buy a put option
(2) Enter into forward contract - - (4) None of the above
a9 o=l BRI (IS <-14||~1|) qebeilch ST fasell e B AET AR T
Siffed Bt B |
'(1)@%%%@%‘ (Z)gz(wﬁe)ﬁwaﬁ%
(3) oY ergeer # ast A (@) S F @ Bg

57. Which of the following is not correct about provisions of FEMA ?
(1) FEMA is simplified compared to FERA
Q) It dlstmgulshes between current account and capital account transactlons
(3) It is meant for tegulation of foreign exchange
(4) None of the above
ﬁwﬁrﬁgﬁﬁ@rﬁﬂ—mﬁm(FEMA)%maqﬁ%aﬁﬁqﬁ rﬁ,‘f 27
(1) B (FERA) & g1 H &A1 (FEMA)HTGT ?

(2) 7% = @ R PN @ R & @ o o @

(3)&3%%%@%%@?%%@% -
(4) ST § g A&

MPH/PHD/URS-EE-ZOI9/(Commerce)(SET-Z)/(C)'
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58. Under which of the following technique of Price_Level Accounting, various items of
balance sheet and profit & loss account are adjusted with the help of general price
index prepared by RBI : -

(1) Current value accounting tcchriique -

(2) Current cost accounting technique

(3) Current purchasing power technique . .

(4) Replacement cost accounting technique ,

R STk BN AR WM ged geeis @ "es 8 39 die (ged o)
A BN wmR @ R awgell w1 aer-oian Frefifaa qede § A
fpe T R Sirem ® 2 o

(1) 9N Hed AT debeileh .

(2) =AM AP AGTHT B - .
(3) ada= HF e TEE -

(4) Iﬁ?ﬁ?mﬁ SIcESie G clchﬁ“lcb :

59. As per Article 6 of Agreement on Agriculture (AOA), which of the following are most

trade dlstortmg box and subject to reductlon commitments ? :

. (1) Amber box - - ’ (2) Green box ’
3) Blue box , : (4))&11 of the above
FR o G B oD 6 B AR, FreRiEd § § A s g
ﬁwm%ﬁm(ﬁﬁﬂﬁmqﬂﬁqgm) HH FA B ANT T ?
(1)aqa?asr%?«sn : (2)3%wasr%<?m

©3) W T oH e (4)3@% asq

60. Initial Public Offerings (IPOs) are a part of which of the follewing market ?
| (1) Secondary market - (2) Unorganised market
( 3) Primary market (4) None of the above
sifs T e FreRE 7 & R AT o @ 7
(1) faciEes SIS | : (2) TR IR
(3) q& T | (4)aqﬁaaﬁ@raa§=|€r

MPH/PHD/URS-EE-ZO19/(Commerce)(SET e , P.T-O.
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61. Panchayats in India have been given the po
granted to them for the welfare of Villa
highlighted in the above statement ?

(1) Unity of direction
(2) Division of work ~
(3) Unity of command
(4) Centralization and Decentralization .
Wﬁmﬁwmwmﬁmw%ﬁﬁ%ﬁawa’
R o & o archl ewrafer @ qg Y oK @ FY | gl BT H TG
+ fpe R o weprst sTom @ ® 7 . ¥ '
(1) ™™ 1 T&mar o
(2) s FH f%wruﬂ
(3) TR & THaAT -

 (4) FEET R Rl

62. From the followmg mformat10n 1dent1fy the ﬁrm having least 11qu1d1ty

- (1) Current ratio : 2.2 and Quick ratio : 1.6

(2) Current ratio : 2.2 and Quick ratio : 1.3
(3) Current ratio : 1.2 and Quick ratio : 0.6
(4) Current ratio : 1.2 and Quick ratio : 0.8
ﬁwmﬁréwﬁwmmﬁmﬁaﬁwaﬁ

(1) =T U : 2.2 3MX @RT STgu ¢ 16 -

' (2) IR UM zzefh?c?rﬁﬁaﬁqm:'w _ LR A

(3) =g e1gur ¢ 1.2 8RR @RA TgU : 0.6 o ' '\l/ﬁo. ©

'(4)%@16'12@%@%3?@@13_:'08' , CQB/J A\W
63. If the price of any commodity decreases by 20% and the demand of that comrﬁodity

increases by 40%, then elasticity of demand would be : ,

(1):Unit elastic (2 Highly elastic
(3) Poorly elastic | (4) None of the above

qﬁmm(aﬁ)aﬁaﬁqﬁzo%wawﬁﬁ%mw AT 40%
. 9% SR &) e A6 e B o B ER@ Sl
(1) 57 SRR - (.= aRR

@Wﬁﬁﬁﬂ | - (@Bﬂﬁﬁﬁﬁaﬁéaﬁ
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64. |
§ Debt Eqmty mix in capital structure is relevant according to whlch of the followmg

approach ?
(1) Net Income Approach (2) Net Operating Income Approach

- (3) M&Mapproach (4) None of the above
T wxewn & s o Ry fPeeffaa §Q Rea gResmeT 6 STgE
g B | | .
(I)S\Iﬁeﬁqm , 2) g SR o gk
() ™ wd oH gResder 0 (4) ST 7 | PR

65. Low geared company will not expose to which of the following risk ?

€1) Business risk — .(2) Operating risk
(3) Inflation risk ' (4) Financial risk

-Fhﬁmémﬁﬁwﬁf%ﬁvhmﬁrﬁ@rﬁm%mﬁ 7 S ?
(1) =T vv'r’rfém » (2) g SReH
(3)gzreﬁ%aarshﬁaw : 4) ﬁ?ﬂu.ﬁﬁﬁaw

66. Cash flows ansmg from the transactlons in a bank should be classified as resultmg

from :
(1) Financing activities ~ (2) Investing activities
(3). Operating activities =~ ~ (4) None of the above
%ﬁﬁ?—%@mﬂaﬁaﬁﬁﬂﬁmﬁmmmm
STET =Ry , .

() iy afafafEr ; ¥ Frash R

- (3) ufteneH AfafafEEr (@) SR ¥ ¥ BRI

67. In case of admission of'a parthcr the enfry for unrecorded investment will be :

. e _—
(1) Dr. Revaluation A/c and Cr. Investment A/c )
Dr. Investment A/c and Cr. Revaluation Al =

(3) Dr. Partners' Capital A/c and Cr. Investment A/c

(4) None of the above
"@mﬁm%qam%qmﬁfﬁmﬁaﬁﬁmwﬁ%mﬁqﬁﬁam

(1)WW@W®%€W%&M@W
(Z)Wﬂﬁ%ﬂmﬁmgﬂﬂﬁfﬁﬁ@m
(3)%?3RH1§T@@IHTG?ITW%3$T@T€H
4) Sqe § & B W |
VIPH/PHD/URS- EE-2019/(C0mmerce)(SET Z)/(C) Kl 2 0P T, O
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68. Grouping of activitics on the basis of product lines is a part Of:_ o
(1) Divisional organisation (2) Functional org&{llsa 10
(3) Autonomous organisation " (4) Group organisation E
S AEAT B SR U TRl @ 7y T O R E |
- (1) ST TS 2) @t e
(3) Tas |G & (4) Gg8 TS Bl _
69. Under which of the following training methods, employeeé are trained on the dummy
model : h ‘
(1) Induction training (2) Internship training
(3) Apprenticeship training: (4) Vestibule training L
ﬁﬂﬁéﬁ?ﬂnﬁwmﬁr%aﬁzﬁﬁaﬁﬁaﬁgﬁmwu@%m
F T B ? - :
(1) TS UiRwETeT (2) sﬁa:if?mqﬁram
. (3) wiRrgar afanTeT f (4) wehIsS HfRrETOT
' 70. Which of the following is a method of direct marketing ?
(1) Fliers (2) Phone calls
(3 ) Text messages (4) ‘All of the above
Prefefaa & & B-d meet Raer @ o bl s ?
(1) = S (2) ®IF I
(3) I« e , (4) SURpeRT A
71. If selling price of a product is in;:reased from Rs. 100 to Rs.120, it will v
A (1) Increase break- even point (2) Reduce break-even point
(3) Increase variable cost B () Reduce P/V ratio
TR, frll Id aﬁrﬁﬁﬁra‘o’f HH . 100 T § THEHR 120 ST FH S B,
T B ? | o
(1) w=-frede fig & Fgrd (2) @u-fred Rig & &0
(3) e @ F (4) P/V STErT § @
72, "Buy 2 get 2 free offer on Shirts" is an éxamplc of which sales promotion technique ?
(1) Product combination (2) Rebate © & ‘ i
(3) Digcqunt | ‘ (4) Quantity gift

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(C)
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W%wazﬂqﬁﬁﬁwmm’fﬁm%ﬁwd?amww'

(1) SR Ao (2) =&
®) e (4) 7= SR

73. U/S 20_8, the obligation to pay advance tax arises if such tax during that year is:
(1) Rs. 10,000 or more (2) Rs, 20,000 or more

| .(3) Rs. 25,000 or more *© (4) Rs. 40,000 or more

Ulszos,ammmwmmaﬁmwa@%awwmmﬂ
(1) 10,000 5T a1 aiferes () 20,0005 a7 erfer
(3) 25,000 59 o7 GT@IEE - (4) 40,000 59 77 37fereR

74. When RBI sells the approved securities to the banks with. the commltment to
repurchase the same after a specified period is known as : .
(D Discount rate (2) Repo (3) Bank rate (4) Reverse repo
mwﬁaﬂé@ﬁﬁ?aﬁfﬁ%aﬁaﬂ%wﬁgﬁ@ﬂamaﬁ
SIS % ST uRraRET @ &t B e g: |
(1) 82 # =3 @3 . 3) Fpax (4) Rad xq@

75. The cost of retained ea'rnings is: 7, , :
(1) Profits . @ Interest
(3) Dividend- « . (4) None of the above
SRR AT B T B | |
(1) @4’ - (2) =1t

{
76. According to w};:_ch/cgc’epi the avallabll?';y and affordablhty of the product are
| considered to be the key to the success of the firm ?

(1) Sales concept (2) Marketing conéept
(3) Production concept ' (4) Product concept .
- Tpg or@uRem & TR, Waﬁwwﬁwaéaﬁmﬁaﬁmaﬁ '
ol AT ST ® 7
(1) i &6 STaemren | 2) ﬁmvm Bl ST
(3) SRS W FAGRET (4)B?qﬁﬁa¢aamn
MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(C). LA TR N o,
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77. The time limit to gct information under RTI Act s :
(1) 20 days (2) 30 days. ,___(Z)_ﬁﬂjays (4) 90 days
maaﬂémmn%mwmmﬁaﬁwzﬂm%
(1) 20R—sT 2) 30 R+ (3) 60 f&= (4) 90 f&=T
78. Point of Sale (PoS), Smart cards and ATMS are part of
(1) Virtual banking system (2) Group banking system
(3) Universal banking system (4) Mixed bankmg system
Wﬁ?aﬁmﬁﬂ,@ﬁwaﬂfqa@wm%: |
() o ¥ o () wE AR eIl
(3) e IRET IO | (4) Rl dfET ol
79. Principle of Subrogation is not applicable to which of the following type of insurance ?
(1) Marine insurance ‘ (2) Fire insurance
(3) Life insurance o - (4) All of'the above ,
a@ﬁmwmﬁmﬁﬁmm%eﬂmwa@aﬁ g7
(1) g | S (@) s @
@) s A @) s A

80. Which.of the following is not a difference between cheque and bill of exchange 7

(1) Cheque bears no stamp, whereas bills Should be Stamped ~ ‘
(2) Cheque may be crossed but bill can't be crossed =
(3) Grace days are allowed in cheque but not in case of bill ~
(4) Both are bill of exchange = |
mﬁmﬁam-maameﬁwm%mw T T2
(1)%%#%Wﬁ%mﬁsmwwwﬁﬁa@q |

. (Z)Mﬁmﬁmmm%%ﬁwmaﬁmqﬁmmm
,(3)azsﬁavﬁ=ha%a§qﬁf€rmﬂ%%ﬁmﬁa%wﬁqﬁ
(4) g ﬁrﬁm & foret

. MPH/PHD/URS- EE-2019/(Commerce)(SET-Z)/(C)
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81.
- Which of the followmg is not a money market instrument ?
(1) Equity shares (2) Commercial bills
(3) Certificate of deposits | _(4) Treasury bills
Friffae § & @ 1 9NIR 9 q8f ¥ 7
() s (3frerd) Qo (2) aferRaes fre
() 51 & ymogy (4) TR R
82. Under which of the followmg competition, variety of goods will be available to ‘the
consumers : , L RWO '
(1) Oligopoly = . N (2) Perfect competition .
i K . od % ——=——\/’-—-§" b/

- (3Y Monopolistic competition (4 Imperfect competition
gﬁw?ﬁ%mnﬁﬁﬁw%mﬁ%m%wwﬁwﬁﬁw
(1) SEaTER . ) oot s
(3) THRERR SRR a (4) oTel R

83. When income tax return is ﬁled online without using digital 51gnatures then which of
the following form is used ?

(1) ITR-VI ) ITR-V  '(3) ITR-IT _‘ (4) ITR-VI

~m%ﬁmmwaﬁwﬁs&ﬁmwﬁﬁaﬁwwwm% Eﬁ
T A A s T SwET AT s ?

o (1) ITR-VI - (2) ITR-V ®3) ITR-I N C)) ITR-VI

I .

| 84. Planning of taking advantage of different incentives and deduction is a part of :
() Purposive tax planning - (2) Permissive tax planning
(3) Mutual tax planning ' " (4) None of the above
ﬁﬁ?ﬁmﬁaﬁ?a@?ﬁwwaﬁﬂwzﬁr@m%
) a%mqu’ra»-(ﬁﬁmq : (2)a4§q=q$?ﬁthﬁ=r
(3) ST FX AT () S A & A

85. The Income tax slab rate for Assessment Year 2020 21 for mcome from Rs. 2 50,000 .
to Rs. 5,00,000 i is

1 (1) 15% (2) 20% . (3) 5% (Aa 10% .
2,50,000 HIF & 5,00,000 T TF B g & Q ofepe a 202021 & ﬁ-rq
AR W 877 ¢
(1) 15% . (2) 20% ) 5% () 10% e

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(C) g4 . \ P.T.O.
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86. Countervailing duties are imposed to :
(1) Neutralise the negative effects of subsidies
(2) Increase the tariff revenues of domestic Government
(3) Punish domestlc consumers for buying high priced goods
(47 All of the above
aﬂdaﬁi%m(waﬂﬁam)é?{cﬁa’ﬁﬁm?ﬁ%=
(1) GRSt B THRES THET Bl FTAT BT
2) Y THR B A Ao H FIH BTN
(baa%waﬁ%%maﬁwﬁﬂaﬁaﬁaﬁaﬁm

(4) ST T _ & W
87. Which of the following is an assumptioﬁ of law of demand ? &Uﬁ\o ‘(\‘”}
(1) Taste and preferences of consumers don't change ' t RV

(2) The income of the consumers don't change

(3) There is no change in the prices of related goods

(4) All of the above

Praffad & @ DE-a1 |56 H BT @ TR T 7
(1) @ ST STeReT @ gy T SEer §
(2) Susherialt @ oma § aRecw & & §
(3)m%mﬁﬁaﬁmﬁaﬁéw=|€f§aﬂ%
(4) SUERT a9

88. The decision to own or lease will be taken by comparing :
(1) Cost of purchase and lease
(2) Present value of total post-tax cash outflows in purchase and lease
(3) Present value of total pre-tax cash outflows in purchase and lease

_ (4) Profits on account of purchase and lease
Sl HE $ o @F ar g ) Pl i%itn Gﬂ'QT]T
(1) @de X ggg @l ArK
(2)@ﬂaaﬁtqz%ﬁqsamma@aigqﬂww
() @i AT T2 A F T BT TS et w1 A e
@) @dz ok qge @ wEr I A
MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(C)
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89. To control credit io tlhc country RBI may :
(1) Sell the sccurities in the open market
(2) Buy the securities in the open market
(3) Reduce Cash Reserve Ratio
(4) Reduce bank rate
S H AT A Pl Y B Rie dR @ o
(1) SRRl & &3 e § 49 -
(@) SRRt B g aR AW
(3) ¥ehe SIRTT STaTT %A ca e |
(4) 9% T B9 H

90. Real Time Gross Settlement (RTGS) is managed by :

(1) State Bank of India "~ (2) Govt. of India

(3) Reserve Bank of India (4). Concerned Bank

Irtas qHF W Frer et fear o © .
(1) 9T Re §% ary (2) 9IRT WHR ERT

@) T Red &6 amr (4) T S awr

91. Under Managenal Grid theory of Ieadershlp which of the following managerial style is
considered autocratic style of leadership ' :

(1) 9.1 Managerial Style ~* (2) 1,0 Managerial Style
£3) 1,1 Managerial Style (4) 9,9 Managerial Style

waﬁam%mﬁwwmﬁﬁmmaﬁaﬁwmaﬁ
Fécger At 7T ST ® :

(1) 9, 1 geierpra Qe (@) 1,9 e I
" (3) 1,1 gageHg AT 49,9 wE R

@ Which of the following describes the basic principles of business ethics ?

Y

(1) Utilitarianism, social commitment and reputation

(2) Principle of right, princip]e of justice and social commitment
(3) Utilitarianism, principle of right and principle of ; _]ustlce

(4) Utilitarianism, social reputation and justice

MPH/PHD/URS.-EE-2019/(Commerce)(SET-Z)/(C) - PToO.
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Pt 3 & A R e @ T Regrd 1 v e §

(1) STframar, @i gfesar ok afreT
(2) TR 1 RIS, S P Ry S A s
(3) STARfTEER, SRERR & Rer ofik = &1 s
(4) SAfTETE, G ke, ofR =
The law of variable proportion in short'run is also krtown as :

(1) Law of diminishing returns

(2) Law of constant returns . LQ

-(3) Law of increasing returns .
(4) None of the above
STty § aReca eﬁm?r =3 ﬁlTFfT aﬁ S ST ST ¥
(1), g Red 1 #r
@) Rer Rest @ w -
@) Ref ot awgy
@) B'Q'a?ﬁ' T BT
94. Whlch of the following dlstmgulshes marketmg and selllng ? -
( 1) No relatlonshlp between sellmg and marketmg
(2) Marketing is a part of selling ~
(3) Sellmg and marketmg are same
8y Selling is a part of marketing . |
W@aﬁaﬁ?ﬁwaﬁﬁﬁﬁmm%? '
(l)aﬁaﬁﬁm%iﬁaﬁéwaﬂﬁ%
(2) fagor R @ o e ¥
(3) %mf IR fuo 9 2
©(4) Rt faUe @ O R ®

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(C)
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5. X It
d. forfeited 300 shares of Rs. 10 each, Rs. 7 called up for non-payment of first call

of
Rs. 2 per share. Out of these, 100 shares were reissued at Rs. 6 per share. How much
' amount will be transferred to capital reserve account ? |

(1) Rs. 2,100 (2 Rs. 400
(3) Rs. 1,500 (4) Rs. 1,400
X Rt 3 10@%3OOWWWWW7@ﬁQﬁW2W

ﬁ%ﬁﬁm%ﬁ'{w%ﬁmmw =98 ¥ 100 9TX 6 BN Uiy AT
T REw & wed 9 frg T 1 OO0 Re @rar § Rea i s @6

SR ? | |
(1) 2,100 572 g (2) -4001:@ | a00XI0= 30@0
(3) 1,500 593 - . (4) 1,400 597 c
. o &;@3@06%
96. Which of the following is nof a measure of dispersion ? Q10
¢l) Median | ~ (2) Ranges | 2 |1400-
(3) Deviation PR (4) Standard deviation ~ 1oo¥b= 60
Prafafea ¥ & a9 %Fﬂar Ea8 mtr FIB?‘ T -
(1) &= S (2) | |
ORCLE o (4)wﬁaa-rr
97. The concept of green marketmg refers to
(1) Marketing of green colour products
(2) Agriculture marketing an
(3) Environment friendly merke:ting
* (4) None of the above
e AT @ TR Hﬁﬁ F-b‘{?ﬂ e
W B D SQEt @ e
@ g R
- (3) wEtReT & TR AT
4) SadeT F § P T
' MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(C) A bssin BT,

4
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When tﬁe population is scattered over a wide geographical area, then which of the
~ following sampling technique be appropriate ? .
9) Random sampling (2) Multi-stage sampling
(3 Convenient sampling (4) None of the above o
S ST o RRge AR A 3 e o 3, d@ R
BIF-E TGAT qHATE SUgERT B 7
(1) agfRes T | (2) AEERS AT ' L
(3) GRS AT (4)Wﬁ%aﬁ?§a—eﬁ
- 99. Which of the followmg is not a Non-probability sampling method ?
(2) Judgement sampling

(1) Cluster sampling
(3) Snowball sampling
Freiffas § @ S-ar EASSLIC ] LT fafer. 72T g7
(1) e T () ot '

(3) R T @) g T |

100. Which of the following type of research is carried out to find solution to a real life

(4) Convenience sampling

problem requiring an action ?
¢)) Research can't be‘carried out (2) Pureresearch
(3) Applied rescarch . | @) None of the above
ﬁwﬁr@aﬁ@rﬁmw%sﬁaﬁwﬁaﬁﬁﬁaﬂaﬁmmw
WIS B SAEFEHaT ERit R 7 .
(1) srgdea &f T < qear %
(2) g= Mo
- (3) gt a?rex |
(@) ST @

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(C)
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o Total No. of Printed Pages : 29
(DO NOT OPEN THIS QUESTION BOOKLET BEFORE TIME OR UNTIL YOU

: A'RE ASKED TO DO SO) SET-Z
D M.Phil./Ph.D./URS-EE-2019
SUBJECT : Commerce -
- e 10008
' ' Sr. NO. .ot ——
Time : 1% Hours | Max. Marks : 100 4 - TotalQu .tions:100 e
Roll No. (in figures) I f //? / 7@(72 (in words) LZan #1¢§q Jasy «f‘wr‘»fs‘ J’J«Tcy‘ alled nd;{,m-
Name (2 M/ - | Father's Name qﬂ”f/“‘u" / ﬂ// : ' Mg
Mother's Name /t/lﬂ/m QQMI' ' Date of Examination [ }9" [1~20/9
R o

(Signature of the Candidate) (Signatﬁre of the Invigilator)

CANDIDATES MUST READ THE FOLLOWING INFORMATION/INSTRUCTIONS BEFORE
‘_ STARTING THE QUESTION PAPER. ' '

1. All questions are compulsory.

" 2. The candidates must return the question booklet as well as OMR Answer-Sheet to the Invigilator
concerned before leaving the Examination Hall, failing which a case of use of unfair-
means / mis-behaviour will be registered against him / her, in addition to lodging of an FIR with the
police. Further the answer-sheet of such a candidate will not be evaluated. ‘ '

3. Keeping in view the transparency of the examination system, carbonless OMR Sheet is provided to |
' the candidate so that a copy of OMR Sheet may he kept by the candidate. .

4. Question Booklet along with answer key of all the A, B, C & D code will be got uploaded on the -
University website after the conduct of Entrance Examination. In case there is any discrepancy in the
Question Booklet/Answer Key, the same may be brought to the notice of the Controller of
Examination in writing/through E.Mail within 24 hours of uploading the same on the University

Website. Thereafter, no complaint in‘any case, will be considered.

5. The candidate must not do any rough work or writing in the OMR Answer-Sheet. Rough work, if any,
may be done in the question booklet itself. Answers must not be ticked in the question booklet.

J 6 There will be no negative marking. Each correct answer will be awarded one full mark.
Cutting, erasing, overwriting and more than one answer in OMR Answer-Sheet will be treated

. as incorrect answer. ‘ |
" 7. Use only Black or Blue Ball Point Pen of good quality in the OMR Answer-Sheet.

B 3 ‘Before answering the questions, the candidates should ensure that they'have been supplied correct

. and complete booklet. Complaints, if any, regarding misprinting etc. will not be entertained 30
minutes after starting of the examination. :

. MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(D)
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1
1. Which of the following is not a money market instrument ?
- (1) Equity shares - - (2) Commercial bills
(3) Certificate of deposits L (4) Treasury bills
Frafafad & @ & ga1 g aeg 787 8 7
(D) " (3REd) e . (2) ST R
_(3) STET & 9HONH (4) rﬁﬂzﬁtﬁa feret
2. Under which of the followmg competltlon variety of goods will be avallable to the.
consumers :
(1) Oligopoly (2) Perfect competition
(3) Monopolistic competltlon | (4) Imperfect competit'ionv .
?ﬁ%ﬁmnﬁﬁﬁm%mﬁ%w%wmﬁw@ﬁw&r
, 4
(1) TR (%) qet mRERfET
- (3) TR aRERET (4 srget ufeAfEr

3. When income tax return is filed online without using digital signatures, then which of
the following form is used ?

(1) ITR-VI (2) ITR-V _{3) ITR-III (4) ITR-VI

w%&wmﬂmwmmmﬁﬁaﬁmww% a’r
Freg § @ fpa ®F &1 ST BT st 8 °

(1) ITR-VI - (2) ITR-V (3) ITR-IIT . - (4) ITR-VI
. 4.. Planning of taking advantage of different incentivés and deduction is a pe;rt of :
(i) Purposive tax planning - (2) Permissive tax planning
(3) Mutual tax planning (4) None of the above
Ay Seeaget @Y i (2) STgAT B P o5
(3) SRR HT IS (4) SUIHKT H | Hg 7L

5. The Income tax slab rate for Asséssment Year 2020-21, for income from Rs. 2,50,000
to Rs. 5,00,000 is :

) 15% (2) 20% 3) 5% (4) 10%

250000mﬁsooooomwaﬁaﬂg%mwa&mzozl%m
FHT W & B ¢

_ (1) 15% 2) 20% /(3’) 5% (4) 10% |
MPH/PHD/URS EE-2019/(Commerce)(SET Z)/(D) | | .~ PR.T.O.
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6. Countervailing duties are imposed to :
(1) Neutralise the negative effects of subsidies ,
(2) Increase the tariff revenues of domestic Government -
' (3) Punish domestic consumers for buying high priced goods
(4). All of the above
HRERART (TIEX HA aTe) ST T8 Sl & 1
(1) gaSt & RIS IH9E1 B ATA HIAT -
(2) Y AR B AR IORT § g BT
(3) S=9 FHA EH @ B [ g STAIRT B &S HIAT
—4) Gtratﬁr Skl

7. Which of the following is an assumption of law of demand ?
(1) Taste and preferences of consumers don't change
(2) The income of the consumers don't change _
(3) There is no change in the prices of related goods
(4) All of the above
Wﬁﬁﬁﬁq-mw%wﬁm%?
(1) @@= oM IUrAratt @ arafRany e Sae ¥
(2) SUREART @ o F uRgdT WEF At &
(3)aafaawﬁﬁaawﬁrﬁaﬁéwq€f§aﬂ%
(&) ST wq

8. The decision to own or lease will be taken by comparing :.
(1) Cost of purchase and lease
_ (2) Present value of total post-tax cash outflows in purchase and lease
(3) Present value of total pre-tax cash outflows in purchase and lease
(4) Profits on account of purchase and lease |
(1) Tl AT T2 A/ wrE ‘ o
,(2)@ﬂaaﬂ?qe%ﬁqsaao—f=mﬁaﬁaieaﬂaﬁm:f@w

A)W@T@ﬁ@ﬁmmmww@
(4)@33?1?@%%@1@71‘#

: ::MPH/PH‘D/URS-EE-ZO19/(Commerce)(SET-Z)/(D)
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9. To control credit in the country RBI may :
(1) Sell the securities in the open market
(2) Buy the securities in the open market -
(3)" Reduce Cash Reserve Ratio
(4) Reduce ‘bank rate

%ﬂﬁ%@?ﬁ%ﬂ%ﬁmﬁ%%ﬂmaﬁeﬂé:

(1) st sl got ST Haa
(2) wfrgi™Al @& Gt anvn'{ q Tl
_A3) % TR ST HH HT
(4) ¥ <X BT B
10. Real Time Gross Settlement (RTGS) is managed by :
(1) State Bank of India - (2) Govt. of India
(3) Reserve Bank of India (4) Concerned Bank
(1) 9T Ve % & ' (2) ART FHR ERT
/@a A Red g g (4) waf%m' ¥ BRT
11. Match List-I with Llst—II and select the correct answer .using the codes given below
and lists : :
" List-1 - ' CListII - \ '
A. Right to be informed . | 1. Rightto acquire knowledge to be an

~ Informed consumer

Right to know MRP, date of expiry etc.

C. Right to safety .3. Right to get relief if product does not
meet expectallons

I~

B. Right to consumer education

D. Right to seek redressal o 4. Right to be protected against unsafe products
Codes :
A B C D
/ﬂ’ﬁ o1 4 3 \
@2 3 4 1
(3) 2 4 1 3
@) 3 4 1 2

MPH/PHD/URS—EE-2019/(Commcrcc)(SET Z)/(D) P.T.O.
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lﬁiﬁ-llv%wﬁiﬁ-laﬂﬁamqﬁaﬂr:ﬁaﬁq@%_ﬁ@‘wm
-1 R a\_éﬁ_n-

A I RN R _1.'@@3@%@%%@513
B-'Gq‘iqullf?eTaﬂEmaTma?r{ s -2 W(W) GTlﬁﬁﬁrEﬁ;

= | . TR S eeR

C. &1 #1 e | 3. qﬁ«maﬁmaﬁﬁg{rq—am
D. MeaRYT 9= &1 st 4 ORI St A s i
A B C D T

2 14 3

@2 3 4 1

@2 4 1 3

(4)3_ 4 1 2

12, The ndn;performing assets are classified by banks as :
(1) Sub-standard assets, doubtful assets and loss assets
" (2) Doubtful assets and bad debts
3) Standard assets and sub-standard assets
- (4) Doubtful assets, ioan assets and bad debts
R B FBt BT FiET R s Y.
Q) S s Ry e it ofre o eioRy
- (2) Sy Ry IR R oy
- 3). 7% "URT OIR ST A dufy

(4) Hfeww €ulR, o1 d9ufy o) e HoT
MPH/PHD/URS-EE 2019/(Commerce)(SET-Z)/(D)
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13. Match List-I with List-IT and select the correct answer using the codes given below
and lists : -
List-I . List-II
A. Friendship 1. Safety needs
B. Personal fulfilment 2. Affiliation needs
C. Stab.ility of income 3. Esteem needs
D. Status 4. Self actualisation needs . A
Codes : '
A B C D
M2 1 4 3
2)2 3 4 1
3)2 4 1 3
43 4 1 )
@-ll%m@lwﬁﬁmaﬁmﬁ%m@a@aﬁ@wm
B T I T |
geil-1 TEI-11
A. BEar | S 1. gREW @ STERTEdT
B. =fRrew g 2. GESAT W SAELIRAT
C. ot ol Rerar 3. I TBIT /STEaTIHRAT
D. ﬁeﬂ?r ' 4, IATH IAYOT &HI AEALIHAT
A B C D
Mm2'1 4 3
)2 3 4 1
3)2 4 1 -
4) 3 4 1 2

14. In which of the following market several large banks accept deposits and provide loans

in various currencies ? .
(1) Euro credit market . (2) Euro currency market
(3) Foreign exchange market ~ (4) Euro bond market

mﬁamwﬁﬁ@%mwm%aﬁﬁm
gﬂaﬁﬁmw TS BT & !

(1) T2 Hiee TP (2) T T SR
: /(3) Fer Fafa Ao (4) 8 o
::" ‘_ MPH/PHD/URS EE- 2019/(Commerce)(SET—Z)/(D) ' e e O EPTION
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15. Which of the following technique is used for forecasting ? .
(1) Regression analysis - (2) -Correlation analysis
(3) Cluster analysis o (4) None of the above
| 'W%mﬁwﬁf@aﬁaﬁmmmmmmm% 7.
/ R CuLEREESER s (2) gedsy AT
«(3)H=161%Tse%w (4)au-aaﬁﬁ@raﬁé=r€r

16. The best hedging techmque when the amount and timing of foreign currency outﬂows
are uncertain is to.: ‘ '

~ (1) Buy a call option | (2) Buy a put option -
(2) Enter into forward contract (4) None of the above
Hﬁ%aﬁzﬁ%ﬁﬂ(a@m)aﬁmaaﬁ%sﬁ@ﬁwaﬁw
HAMRET Bt & ¢ |
(1) ©F e Rrebes @ _A2) g—e qHIfere) fehed @S
(3)\3@.31@%?%15?'3??3% , (4)3@3!1‘-[55{%3@%?&?? '

17. Which of the following is rot correct about prov1sxons of FEMA ?
(1) FEMA is simplified compared to FERA _ :
(2) It distinguishes between current account and capital account transactions
(3) It is meant for regulation of forelgn exchange
(4) None of the above

ﬁwﬁﬁaaﬁﬁaﬁq—w%m(FEMA)%maﬁ%m%ﬁm&aﬁ %?
(1) &0 (FERA) & g # a1 (FEMA) o-ed &
(2)%@%%@@@%%%@?{?%%
<ﬁ)u€ﬁ%sﬂgm%ﬁum%%ﬁ%

(4)3qﬁaaﬁ@ra§1§=|€r

18. Under which of the followmg technique of Price Leve] Accountihg vérious it g f
~ balance sheet and profit & loss account are adjusted with the hkel" f 5 e{“‘s_"
- index'prepared by RBI: p~° general price

(1) Current value accounting technique
(2) Current cost accounting technique

) Current purchasing power technique

ghe (4) Replacement cost accounting technique

MPH/PHD/URS-EE-ZO19/(C0mmerce)(SET-Z)/(D) .
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ST & ¢ =M AR AR g G oTee & AR e (qee o)
X Te-eI T W R awgell @ SmE-sian FraRied o Y
e e Sar ® 7 |
B (1) a9 9w SEiFT g
(2) T T A qa
(3) a9 ®HT AT qEHNE

(4)Hﬁ1wmwm%@ﬁo—-faar—ﬁis

19. As per Article 6 of Agreement on Agriculture (AOA), which of the following are most
trade distorting box and subject to reduction commitments ?

(1) Amber box R (2) Green box
(3) Blue box | ~(4) All of the above

P W TN F PR 6 B YAR, PrefiRad § § Be-ar @R g
mﬁaméﬁaq%@ﬁﬁﬁ?(ﬁ@mﬁmm@m}maﬂ%%atﬂﬁ%?

(1) sfaR &t o= | _AZ) B T H R
@) ¥ T w R (4) SR T |
20. Initial Public Offerings (IPOs) are a pért of which of the foilowing market ?
(1) Secondary markét . )] ,Un'organised market
(3) Primary market (4) None of the above
ORPE et S Prafired ¥ 4 fea o @ e © 7
(1) fercrares arome (2 o IR -
(3 g1 aeR (@) ST F Y B

21. Which of the following test will be appropriate for judging the significance of
- difference between the means of two samples, when sample size is less than 30 and
population variance is not known ?

(1) f-test © (2) ttest - (3) z-test - (4) None of the above
Fefifed & @ - afeer @ T & aeFt 3 99 o B qew @
W%mmgw.éﬁn,mmewmﬁw%@jmwm

 TE AR ?
(1) f-aderr . (2) t-gieror
BORA | (4) STURT F q g 7St

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(D) pT.O.
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22. Suppose in a box of 80 bulbs packed, the mean number of defects per box is 0.3. The
percentage of bulbs without mistake will be : , '
(1) 12% - (2) 54% (3) 74% 4) 80%

Wsﬁﬁq%ﬁwsoaﬁﬁ%@mﬁ,qﬁeﬁwaﬁaﬁaﬂﬂﬁﬁw
0.3 %1 AT ol B ISt 1 gfeer N

W 12% 2) 54% 3) 74% 4) 80%

'23. In which of the following situation bailment cannot be terminated ?

(1) Doing an act consistent with terms of bailment
" (2) On expiry of period |

(3) At the desire of the bailor

(4) None of the above

Wﬁﬁwmﬁwmﬂﬁﬁwm%?
(I)Wﬁaﬁ%e@qmﬁm 4 -
_(2) sty S iRy O3 | T
(3) SRR & g UX

(4) S & q HE T81-

24. Which of the following is most widely used method of calculating correlation 9

(1) Scatter diagram (2) Linear method

(3) Charles Spearman's (4) Karl Pear'son"s. '
ﬁw%f@aﬁ%%—mw—waaﬁmm%mmﬁm |
SYGNT ' S arch Ry ¥ 7. =

(1) wer Fors (2) Y& fafy
(3) =T e &) =t Rt
25. Wh duct ndiffre
v 1?;: gﬁ’gl:’:hsl :;Zrc:mplementary to each other, the shape of Indifference curve will
MNP | () L (4) M
SET SWE . T ® AT E, W@ < ‘
SON e gy O

MFH/PHD/URS EE-2019/(Commerce)(SET-Z)/(D)
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26. Monopolistic competition is a mix of which of the following ?

(1) Pcrfect competition and oligopoly
(2) Perfect competition and monopoly

- (3) Oligopoly and monopoly

(4) None of the above ‘

IR SRERET Rrefie & e fe ¥ ?
(1) ot oREAfET i ST

(2) gt oREAFT ofiR TehiferReR

(3) STEIRHR AR THRBR

PO ERE T

Which of the followings is not an objective of Competition Commission of India ?
(1) To promote monopolies
(2) To create competition fund

- (3) To protect the interest of consumers

(4) To curb negative aspects of competition

ﬁwﬁ?{@ﬁﬁﬁﬁqw%nﬁﬁrﬁmaﬂﬁwwaﬁwmﬁ 37
(1) TehIfERRR T sigEr 39 & g

(3) SudRTeTt & fa & B R
(4)q%ﬁﬁm%wqa§aﬁwe@mmﬁ%%q

28. Charging different prices for the same product from different customers is called
(1) Double pricing - - (2) Cyclical pricing
~ (3) Transfer pr1c1ng e (4) Price discrimination
-mmmﬁwﬁm%ﬁmmwﬁﬂ%aﬁmmm
g | |
(1) S 7T fEer | (2)%1@%@
(3) BT &I _ | '/(,4)41@ iﬁ‘m-or
29, An indifference curve is always : _
(1) Concave to the origin _ (2) Convex to the origin
w1 (3) A horizontal straight line (4) A vertical straight line
. ugp SETdT 9% AT BT & ¢ .
- R CR| | ) Ty B I
(3’)@%1%3%%&?7%@ | (4)@6@?&1?@&%@ | B
MPH[PHD/URS-EE-2019/(Commerce)(SET Z)/(D) R SR LTRSS O,
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30. Match List-I (Accounting standard) with List-1I (Relatlonshlp) and select the correct
answer using the codes given below and lists :

List-I ' . List-IT . _
A. AS-6 | o .1. 'Ac'éounting for consolidated financial
A " statements
B. AS-12 2 Accounting’f‘or ﬁxéd assets
C. AS-10 3. Depreciation a(;c.ountir‘lg
D. AS-21 4. Accounting'for"Government Grants .
Codes : '
- AB C D
M2 4 3 1
@3 4 2 1
3)4 3 1 2
M1 2 3 4

T (7=rer) 3 @ @il (3 HT+T5)

aﬁ?&%ﬁiﬁr@@vaﬂ%wmgﬁ _e ﬁquﬁa@{

T TH-11
A.ASf6 1.@%%%%@%
B. AS-12 2. ST
. Ettrﬁﬁr I foEmE -
C. "AS-10 3. HRREeg é@m
D_.Asfgl 4, TR SR & Riq Srgrassy
_ A B C D
/M2 a3 g
C @) 3 4 Ty
" (3) 4 3.1 2
S NN FEE TR S
MPH/PHD/URS EE-2019/(Commerce)(SET-Z)/(D).
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31. When a firm is able to sell more quantity of output at the same price, then ?
(1) AR<MR 2) AR>MR
- (3) AR=MR 4 e (4) None of the above |
W@mﬁ@aﬁmwaﬁﬁwﬁnmmﬁﬁwﬁﬁﬁ%
_/61/AR<MR : e 2) AR>MR
~ (3) AR=MR (4)Wﬁ@f®s‘?ﬁ
' 32, Which of the following is objective of tax planning ? ‘
(1) To curb tax evasion (2) Shield againsf high taxation
(3) Av01dance of litigation : ' (4) All of the above

}ﬁw%%ﬁﬁﬁﬁqmﬁﬁaﬂmaﬁm%? | _
(DWﬁ’F&W@E@STWﬁ%%Q (Z)WW%WW
(3) RSN & S=E . PUEL R |

33. Foreign income received and accrued outside India from a profession setup outside
India will be taxable': ' : .

(1)’ For Resident only - |
(2) For Resident and Non-Resident only
(3) 'For Resident and Not ordinarily resident only

4) For Non-Resident only

W%W@sﬁsﬁmé&wﬁw%waﬁ?aﬁﬁﬁaﬁn‘éfﬁsﬁ
SR AT ERN

(1)%aaﬁanﬂ%%m
(2)%@@1@%@11%%11 | ~
ﬁﬁa@%maﬁaﬂﬁwﬁﬂrﬁr%mﬁqﬁ
(4) Fawr FEEE & [T Lk

34. From which of the following countries the FDI inflows in India is highest ?

(1) UK (2) France (3) USA . (4) Maurltlus e
Wﬁﬁ%m%ﬂﬁwﬁrmmma@m%?
MFe o @%F . _B) To Wo Yo (4) HiRTH

‘ MPH!I_’HD/URS-EE-ZO19/(Comn_1ei‘c'e)(SET-Z)/(D) A Ty S . SRT.O.
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35. Who is the chief Economist of International Monetary Fund ?
(1) Raghuram Rajan - (2) Gita Gopinath
(3) Arvind Kumar _ (4) Shaktikant Das
SRS H5T Y & g arelsiref S & ?
e YIH T _ (2) Ifar e
(3) g HX _ (4) <R T
36. Kinked demand curve explains 3 e '
(1) Price flexibility
- (3) Price rigidity
(1) &= & | C o (2) HIT weRan
() I HSRar R POKINES )
37.  Which of the following theories of intern
help of opportunity cost ? '

(1) Fundamental theory _ | ‘
~(3) Theory of absolute advantage

(2) Demand rigidity
(4) Demand flexibility L.

ational trade can be better understood with the

(2) Factor endowment theory

- @ Theory of comparative advantage

(1) Aifiver s

BTt @ 1 Ry (4) TATHSD T BT TG

38. The process of increasing the contents of the
responsibility, scope and challenge in work is called :

(1) Job Enrichment (2) Job Analysis -
(3) Performance Appraisal (4) Job Enlargement

job or deliberate upgrading of

Maﬁmﬁrwﬁmﬁr@mﬂ%w#mm@mmﬁ
A BY BeT ST ¥ ;o T - = K
4 ARG dadw A0 W R
fg)mﬁww @ Y aRs

' MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(D)

, ' | |
' . - : . . _
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Matgh List-I with List-II and select the correct answer using the codes given below
and lists : : Frod ot ' ‘
List-I List-IT
A. VED analysis _ _ 1. Capital structure
B. Fund flow analysis . " 2. Inventory Control
C. Return on Investment. - ~__—3. Working capital management
D. MM Theory 4. Overall profitability '
Codes : ' ]

A B C
M2 1 4
4
1
1

(3)2 4
4)3 4

_H@H%W@%ﬁlwwqﬁeﬁﬁ%mﬂﬁaﬁrﬁﬁww

b Tl S T -
Tl | | @@
A. VED fasaer | 1. &fr d@eams
~ B. #IY ggE RAKITOT - 2. = P
C. fast X ufaw 3. e OSh uefa=
D. ©H A s 4. TEU ATHHEAT
%< < .
A B C D
Hh2 1 4 3
3 4 1
32 4 1 3
@3 4 1 2
40. In which of the following s1tuat10n the income elasticity of demand will be greater
than unity : :
(1) 'When commodity is a nece551ty () When commodity is inferior
 (3) When commodity is a luxury (4) None of the above
i ﬁﬂrﬁ@fﬁmﬁaﬁrﬁwaﬁaﬂ@ﬁw@faﬁﬁzﬁ_@ﬁ?
‘/(’1’)GTETER§Q$G:IT<TQWHT% (2)61631@,%1:7@?%%
(3)a—srar@,aaaﬁ(ww)sﬁ‘r% (4):5craaaﬁ%ra€|é=r€r
MPH/PHD/URS-EE-2019/(Commerce)(SET Z)/(D) e e et SR RARETVOL

Scanned by CamScanner



14 D
41. ' Under Managerial Grid theory of leadership which of the followmg managerlal style is.
considered autocratic style of leadership :
(I) 9,1 Managerial Style (2) 1,9 Managerial Style
(3)'1,1 Managerial Style - (4) 9,9 Managerial Style
e B & qed AT w1 Rysia o Frefiea gdedE e w1 Age @
gy At AT ST R 2
(1) 9, 1 yeierah AN _ @ 1,9 e S
/(}311qaaa§1as?raﬁ \',‘(4)99i1€fé1a‘ﬂ?i§ﬁﬁ-

42. Which of the following describes the basic principles of business ethics ?
1) Utllltarxamsm social commitment and reputation
(2) Principle of right, principle of justice and social commitment
(3) Utilitarianism, principle of right and principle of justice
(4) Utilitarianism, social reputation and justice
Pt & | @ Rema otea $ 9w Rl @1 o @ar © 7
(1) SuaframEm, | afaesar ik aRrer |

@2y s @ e, = # Rera o)k TR aaaaa?ﬂ

' (3) SuAfTETE, SRR & faerT o) = @ Rie

(4) STfFEEE, aEReE e, 3R "

43. The law of variable proportion in short run is also known as :

(1) Law of diminishing returns ‘ (2) Law of constant returns
(3) Law of increasing returns (4) None of the above
seaEty # aREcda orgae B FEm # off St S ¥ :
(1) sEEE Ret @1 HegA () Rer R
)»»ﬁzﬁam%aarw ; (4) SUUFT H & Big T

'44. Which of the following distinguishes marketing and selling ?
"(1) No relationship between selling and marketmg
(2) Marketing is a part of selling
" (3) Selling and marketing are same
(4) Selling is a part of marketing :
 PrRiEd ¥ & P Raer T R S TR BT B 7
/Qk)/a?ﬁ AR e & e Hig wey T8 B
- (2) FaauE R B ous e @
- (3) et oiR faueE we R
" (4) Rehr Raer o e ¥

e ‘?MPH/PHD/URS-EE-ZO 19/(Commerce)(SET-Z)/(D)
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45. X ltd. forfeited 300 shares of Rs. 10 each, Rs. 7 called up for non-payment of first call
of Rs. 2 per share. Out of these, 100 shares were reissued at Rs. 6 per share How much
amount will be transferred to capital reserve account ?

(1) Rs. 2,100 B | (2) Rs. 400 .
(3) Rs. 1,500 B (4) Rs. 1,400
X fafes = 10@%-300WWWWW7mﬁﬁnﬁrW2m

aﬁqa@aﬁa%ﬁww%ﬁmmm,aﬁﬁl%%éwﬁqﬁw
% ROe & gew S0 T T o) OGS Red @rar # feat iR swamaRa @
? ' e

H | .
1) 2,100 59F . (2) 400 BT

(3) 1,500 59 N (4) 1,400 59

46. Which of the following is not a measure of dispersion ?
(1) Median | .~ (2) Ranges
*(3) Deviation . \ (4) Standard dev1at10n
e 7 4 EI?F{ l?ﬁﬂir & AT ﬂ?ﬁ‘ g7 |
(1) A=Y , (2) |
@3) = - ' - B /€4r)fH|'1cb e

47. The concept of green marketing refers to :
‘ (1). Marketing of green colour products
(2) Agriculture marketing
(3) Environment friendly marketing
(4) None of the above
© AT AT S STAHROT B W Bl 2
_A & T B SEET BRI
(2) B fago=
%@j QTR % YRS U
(4) SUAET H | B TS |

48. When the population is scattered over a wide geographical area, then whxch of the .
following sampling technique be appropriate ?

(1) Random sampling | " (2) Multi-stage sampling

(3) Convenient sampling (4) None of the above
mm@@ﬁ@ﬁﬁ%ﬁ%ﬁ%ﬁ% fﬁﬁwﬁr{f@aﬁ%
P TEAT qHAID IUGT B 7

(1) argRss TL - C(2) ARERRST AT
A3 g T N (YRS R RE ) ﬁ SECIE | |
MPH/PHD/URS—EE-2019/(Commerce)(SET Z)/(D) | o s P.T.O.
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49. Which of the following is not a Non- -probability sampllng method ?

(1) Cluster sampling (2) Judgement sampling

(3) Snowball sampling (4) Convenience sampling

ﬁwﬁr@aﬁ%aﬁq—m%—wwmwmﬁﬁ TET ® 7
/(’f) THE AT (2) ok g

S TEREH T - (@) g T

50. Which of the following type of research is carrred out to ﬁnd solution to a real life
problem requiring an action ?

(1) Research can't be carried out
(3) Applied research ' (4) None of the above v
e B STEeTEar e N ? - Bk MY

\/Gb/eﬁamﬂ‘eﬁﬁmwm%/aj/g@sﬁq |
M@)H@ﬁmsﬁa ’ (4) SR & q HE 95

(2) Pure research

51. Which of the followmg is not a.part of Carrols' four part model of corporate social
respon51b111ty ? :
’ (1) Economic 2) Legal -
'(3) Discretionary : (4) Political -
ﬁwﬁr@aﬁaaﬁq—m%mamls)ﬁﬁﬁzwﬁﬁ%@mﬁwww
HisH 1 fewar & ¥ ? : | ' | .
(1) TRt | (2) g
(3) e /@rﬁmﬁ%zs
52.

Which of the followmg agreements are declared void und

(1) Agreements in restraint of marrlage

(2) Agreements in restraint of trade
~ (3) Agreements in restraint of legal proceedings

(4) All of the above -

F=foRaa § § B w@tﬁ “TR?ﬁ'q
M E?
(D) oY H g { Hqs?l%
(2) =R & doH § gy
_[,'/GT‘Ema:rﬂ ?mam—a b W o

er Indian Contract Act 2

a@aaﬁmﬂ%aﬁsﬁra‘ﬁam

' IMPH/PHD/URS—EE-ZOI9/(Commercc)(SET-Z)/(D)
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53. "Any Employee found using Whatsapp in the office will be penalised“ Identify the type .
of plan: - o D .
(1) Rule (2) Strategy ~ (3) Policy (4) Procedure

| “Wﬁm@wmma@msﬂm"aﬁm%m
& gea B & g afeT fRAr S |

_ay @) TEfRr 0 (3) R (4) R
54. Judging people on the basis of the characteristics of the group to which they belong is
called : ' '

(1) Halo effect (2) Stereotyping (3) Attribution 4) Iﬂferencg
Wﬁwwﬁﬁ%ﬁ__%wmwaﬂw'@aﬁ%%,mm
(1) gorHes THE (2) Siedsr m . (4) SIgAH

55. The rate of GST on gold is :

(1) 8% 5% - 10% (9 3%
R A I L | |
(1) 8% @s% 0 ®% ./er(s%

o 56. Out of the following identify Intellectual Property Right :
(2) Geographical indications

(1) Plant variety rights -
\ (4) Allof the above .

(3) Industrial design rights
(1) 9 & faReT SRR
© (3) SNefE feeTEA ST ey s /@

57. Which of the following is best indicator to determine whether the value pf country's

currency is appreciating or depreciating ?

(1) Balance of trade (2)- Balance of payment

e | (4) None of the above |
Wﬁé%—m%ﬁ%yﬁ%ﬁ‘ma@mﬁ%ﬁﬁ%%%ﬂ
(1) =R & HG o o@gEesE
\})m@ﬂm (4)mﬁaaﬁ'§:‘a

MPH/PHD/URS-EE-2019/(Commé

(3) International trade

rcé)(SET-Z)/(D). o P.T.O.
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58.  Which of the following distribution channel is most suitable for consumer goods ?
(1) Two level channel ' ‘(2) Three'level channel
(3 One level channel ‘ ) (4) Direct channel
wﬁwa@aﬁ%mﬁwﬁr@aﬁﬁeﬁﬁwwaﬂawﬁw%?
1) 3 w8 A - @A W A
() w W= S e e
59. Karl Pearsons's co-efficient of correlation assumptrons do m;t includes -
(1) Linear nature ~ (2) No cause and effect relationship
(3) Normality - | (4') Allvof the above -
et e & wews B aRon & s ¥ et 7@ ¥ 7
(1) Y& i 2) ¥ HROT AN THE T qS
(3) AIEMOT SR (@) ST A |
60. Under which of the following methods of performance’ appraisal many evaluators join
together to judge employees performance in several 51tuat10ns usmg variety of
criteria : ' :
(1) Management by obJectlves ) (2) Critical incident '
(3) Assessment centre - - (4) All of the above
'msﬁw%ﬁwﬁfﬁaﬁaﬁaﬁﬁaﬁémﬁmmm
m%aéﬁaﬁaﬁmwmaﬁwwmﬁ%m@mwﬁa
Waﬁsﬁr%mmaﬂb : (Z)Wmt
(3)rvna%a AR SR wi
61. Ifsclling price of a product is increased from Rs. 100 to Rs.120, it will 7
| (1) Increase break- even point (2) Reduce break-even point
3) Increase varlable cost _ 4 Reduce P/V ratro ] T
ot wmmﬁﬁaﬁaﬁﬁnﬁ loow%wwlzomaﬁrmﬁt%
7 EFT 7 —_—— T —
(1)@4- fig & Tl (Z)W-i%ﬁ%?%rgﬁaﬁr
Wmﬁeﬁ; - (4>P/Va:rﬁmﬁfran-ﬁr

i MPH/PHD/URS EE- 2019/(Commerce)(SET-Z)/(D)
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62. "Buy2 get2 free offer on Shlrts" is an example of which sales promotion techmque ?

(1) Product combination ) (2) Rebate

(3) Discount (4) Quantity gift

Erﬂ%zﬁqwzgqaeqmmm”%mﬁﬂ%wd?aﬁzﬁaﬂ@ﬁ

wsw%?
(l)mwﬁ? . NRE
Brw C (&) TR SRR

63. U/S'2082 the obligation to pay advance tax arises if such tax during that year is:
- (1) Rs. 10,000 or more (2) Rs. 20,000 or more
(3) Rs. 25,000 or more - (4) Rs. 40,000 or more

- U/S 208, aqﬁqaﬂasrgnamobwamamqﬂwasfa‘sawwwmm
TR WISOAF ar s .

1) 10,000 59 =1 S - 20,000wam am

3) 25, ooomii o o (4) 40,000 59 a1 AR

64. When RBI sells the approved securities to the banks with the commltment to

repurchase the same after a spe01ﬁed period is known as :
(1) Discountrate - : _ (2) Repo |

(3) Bank rate (4) Reverse repo

mm@ﬁm@%ﬁ?eﬁfﬁ%wﬁ%wﬁgﬁ@m%ﬁﬁ
SRS & TR Akt # S B J=ar ¢

1) 8e # &x o @) X
O R @
65. ‘The cest of retained earnings is : |
(1) Profits |
(3) Dividend
- afreniRa A @ A %
% A NIk
: - (3) wrsieT

(2) Interest
(4) None of the above

(2) ==

(4)acraaaﬁﬁaﬁéq€r

MPH/PHD[URS EE-2019/(Commerce)(SET -Z)/(D) ~ P.T.0.
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66. According to Wthh concept, the avallablhty and affordability of the product are
considered to be the key to the success of the firm ?

(1) Sales concept ' _/(’lﬁvlarketmg concept

(3) Production concept (4) Product concept

ﬁmaqaumn%aﬁmi Wﬁ@ﬂ‘meﬁ?weﬁaﬁwﬁaﬁwaﬁr
B T ST ¥ 7

(1) R o orqemeenm /@@vmzﬁaqawn
() ST H Uy ‘ (4)Wﬁaﬁraﬁvn

67. The time limit to get information under RTI Act is :

(1) 20 days (2) 30 days (3) 60 days (4) 90 days
wamm%mmmmaﬁwﬁm%
(1) 20RsT ‘ (2) 30+ 3) 60ﬁ=f 90 &=

68 Point of Sale (PoS), Smart cards and ATM s are part of :
(1) Virtual bankmg system

(3) Universal banking system (4) Mixed banking system
qEe a9, T & R U & o = e T

ST ST gomeh _ | ,(2)@{5%%11%
(3).erah$r&rcs %m<m 4) ftrfém’ SRET ol

(2) Group banking system ‘

69. Prmc1p1e of Subrogatlon 1s not applicable to which of the followin

g type of insurance ?
(1) Marine insurance - '

(2) Fire insurance

3) Life insurance ' | ' (4) All of the above _
wﬁmm%mﬁmﬁ@aﬁ%ﬁmm%%ﬁmwww ??
(D ?-Tﬁ?ﬁ =T . (2) AT 7 .
- 3) Sitas S A STeR wsh

70. Whlch of the following is not a difference between cheque and bi
(1) Cheque bears no stamp, whereas bills should be stamped
(2) Cheque may be crossed but bill can't be crossed

(3) Grace days are allowed in cheque but not in case of b111
(4) Both are bill of exchange

Il of exchange ?

MPH/PHD/URS—EE-ZOI 9/(Commerce)(SET-Z)/(D)
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ﬁ’qﬁff@ﬁﬁ%ﬁ?—w%ﬁﬁaﬂ?ﬁﬁmﬂﬁm%aﬁﬂaﬁ?ﬂﬁ B
(1) 3% R 1 B Mex 7 B, owls e o deT @ AR
_2Y 3% B whre Rear o webar ¥ AR fae oy sbre Tl A ST ek
(ﬂ%mﬁﬁﬂﬁaﬁaﬁqﬁﬁwﬁﬁ%%ﬁ?%{a%mﬂ%ﬁﬁﬁ
(4) a1 RAfFTT B e 8 |
71.  4P's of marketing were developed by :
(1) Mc Carthy (2) Henry Fayol
(3) J.R. Betty (4) None of the abové
4P % faIoE R Rl Y T 9
1  Pyepreff | /@) %q-a BN
(3) Sto 3o I _(4)3@36?#%2@%:@
' 72.  Which of the following is a non-tariff barrier ? -
(1) Quantity restrictions (2) Foreign exchange restrictions
(3) Preferential arrangements (4) All of the above
ﬁwﬁi@ﬁﬁ@faﬁq—wrﬁﬁﬁ'{ww%?
C() HEw gfkEE OREE U EARCINER!
y/%ﬁ'é awr - (@) SW W
~ 73. Which of followmg is a not a negotlable mstrument ?
(1) Dividend warrants (2) Cheques
(3) Share certificate ~ (4) Promissory notes
' ﬁﬁﬁr@ﬁﬁﬁaﬁﬁ—wwvaﬁ 37
Af{f( e ae (2) =%
" 3y R A (4) o o
74. Out of the following, which is the latest buzzword in banking mdustry ?
(1) Branch banking . : @ Financial inclusion
“(3) Mass banking | ' (4) None of the above
. PyefRae ¥ q fepgent. ST I ?f AT AT eI
_: W“@T A @) == TR o
S (@) 9@ Y W R (4)mfﬂﬁ%a?ré=r€fﬂ
;{__.??‘MPH/PHD/URS-EE 2019/(Commerce)(SET Z)/(D) e e ey R O
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75. - Which of the following is not applicable to 'One Person-Company' ?
(1) Its paid up share capitel should not exceed Rs. 50 Lacs
(2) It can be formed for charitable purpose also :
' (3) Its average annual tumover of last three years should not exceed Rs 2 crore
'(4) One person can form only one company
‘T AR B wﬁwﬁ@raﬁew%"f@m% ?
(1) 3861 Y= (Ts) a?&TgyﬁSOWE@@reﬁEﬁsﬂﬁﬁaT%‘q
) T& e Rew & Rig ot s o e 3 .
' W3Weﬁmmﬁmmzmmamﬁm_

. (4)@@%%3@@*?[@%%

76. Which of the following is the most approprlate source for financing investment in new

machinery ? B : /
(1) Trade credit L X (2)' Account payable
(3) Bank overdraft ' ~ (d) None of the above s
ﬂé%ﬂ?ﬁﬁﬁ%ﬂ%ﬁmﬁw%ﬁwm@%@aﬁwaaﬁq_m
g7
M) &R oy 3 .(2)a~q@mr E
\/(Gfﬁfmeﬁaw -(4)@@3613%'2%%:@

77. SEM ﬁsed in marketing means

(D Sziles-earn-money (2) Save- efﬁciency¥mohey :

~* (3) Secarch- engme-marketmg ' 4) Any of the above
y A‘,qﬁﬁvﬁ@w(SEM)av‘rnﬁmiﬁﬁT% ‘
() R ¥ 2) e A ey

(@Wﬁ@rﬁé@;

MPH/PHD/URS-EE-ZO19/(C0mmerce)(SET-Z)/(D)
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78.

79.

It refers to that level of EBIT, at which the EPS ¢ remains the same 1rrespect1ve of
debt equity mix". What j 1S referred here ?

(1) Break-even point

‘ (2) Financial indifference point
(3) Cash break-even pomt

(4) None of the above

%EBIT%WW%W&&HW%WWEPSWW%W%W
aﬁm%aﬁmwww%?

(1)@?%%@3%@ 2) forlg Sardi g
(3) = -l fig - (4) U | B T
Doctrine of caveat emptor means : | : ' )
(1) Let the buyer beware | (2) Let the seller beware

(3) Let the Govt. beware - (4) All of the above -

mm%ﬁmww%

Wﬁw@ﬁ%\ (2)%%1%%%@%%

(3) TR B AEEE A T Wﬂﬁﬂﬂﬂ

80. According to Walter Model if r > k, the optimum pay-out ratio will be :

81.

(1) 20% (2) 100% - . (3) 50% (4) Zero
W.;ﬁs‘aa‘seﬁeﬁokﬁr,ﬁrwweﬁqﬁarm :

(1) 20% ©(2) 100% -3 50% /(4’@

The practice of recording depreciation is due to which‘.of‘the following concept-:
(1) Money measurement concept: | (2) Entity concept

(3) Going concern concept - (4) Matching concept
ﬁﬁ%ﬂwwawﬁwﬁ%ﬁmmm%w%?

(1) & |9 HehedT - (2) SHE SN

Waﬁ#mwn C (4) P S stemen

82. Set of marketmg tools that a firm uses to pursue its marketmg Ob_]CCtIVCS in a target

market is called : | |
(1) Product mix 2) Marketmg mix
(3) Promotion mix -+ (4).All of the above

‘me@mﬁ@mwﬁmwmﬁaﬁm

T & A ST T 2, IY HET 9T § ¢ —
(1) S T C () RguE ey

(3) g BT i (@ sTdF w

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(D) BRI Y X il
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83. After reissuing all forfeited shares, the credit balance remaining in forfeited share

account, is transferred to :
(1) Capital Reserve (2) General Reserve |
‘ " (3) Share Capital Account ~ (4) None of the above
& mﬂweﬁ@mﬁﬁmamm%mwm@aﬁmw
Y TR B TR [HAT STAT T
r /Ua/ﬂwﬁ‘f S X () "HHE e
(3)%4?':5%@@ | - (4)aq=aaaﬁ@raﬁéa—€r

84. Inan orgamsatlon regarding pamcular batch the I‘C_]eCtIOI‘l rate found was 6% against

the set standard of 4%. The management found that it was due to the neghgence of
quality control staff. Which step of the controllmg process is referred here 4

(1) Measurement of actual performance _

(2) Analysing deviations

(3) Comparing actual performance w1th standards

(4) Taking corrective measure

ﬁ%%ﬁ%ﬁﬁ@wﬁaﬂéﬁgﬁﬁ4%%ﬁraﬁiﬁw%w

6% o, Wm%wﬁsaamwmﬁﬁa%wﬁ%w
mlwm%mwﬁwmﬁﬁmw%?

(1)%%%933%@%

(2) Frae= @1 agdwer :
ﬁmﬁ%mw&ﬁmm&haﬁwm
‘ (4) GURTHS I HIAT

~ 85. Kaizen costing is applied to a product that is :
(1) Produced '
(3) Sold

(2) Ready for sale
(4) Under process for production
a‘;ﬁqmwmwwﬁv‘m?fﬂ%

W Feqrfe 2) fompg & /@ O

L (3) EERE (4)mm%aqeﬂ=[
‘ fMPH/PHD/URS—EE-2019/(Commerce)(SET Z)/(D)
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.86. Dividing the market on the basis of personality of consumers is a part of -

(1) Demographic S€gmentation (2) Géographical segmentation
3) Psychographic S€gmentation (4) Behavioura] segmentation

SRR %a?ﬁaa% SR 9 ESNR & fysyrfayg HIAT qes%m 2

v/aayg“‘ﬂ"_'@' B B (Z)v‘\l\t‘%mmm

87. \ Workin'g capital Rs. 6.30,000, current assets Rs, 8,40,000 and invehtory is Rs.4,00,000
(lnCIUdmg loose tools of Rs 1,05,000), what will be the current ratio? =

()2l @ 71 5775:1 @) 6:1
88. Which of the following is not a feature of services ? . .
(1) Perishability ’ (2) Inseparability

(3) Homogeneity | - (4) None of the above
MRS & & B2t Jareht = Mdvwar 72 3 7
(3) THETar | (4) ST F § FE 7

89. Xand Y are partners sharing- profits and losses in the ratio of 3:2. Z is admitted for 1/5th
share, which he gets equally from X and Y. What wil] be the new profit sharing ratio ?

532 (@) 624 (3)542  _aydan

90 Whiéh’ of the following allowances are partly taxable under Income Tax Act ?
(1) Special compensatory allowance ~ (2) Children education allowance

t allowance ' (4) All of the above : |
i)ﬁé‘r&r INERCL (2) sr=at br e s
(3) A foprar Wl - A4S :

o ‘ “omme | P.T.O.
| MPH/PHb/U RS—EE'—ZOI9/(C0mmerce)(SET-Z)/(D) .
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y the Govt. to decide and spend funds
Wlnch prmmple of management i

26

91. Panchayats in India have been given the powers b
' granted to them for the welfare of Villages.
highlighted in the above statement ?

(1) Unity of direction
(2) Division of work
(3) Unity of command

(4) Centralization and Decentralization _ ' ‘
Wﬁmﬁwm%aﬁﬁwﬁmﬂm% %”@%W%
%ﬁs%ﬁﬁﬁaﬁﬁwﬁra%aqaﬁaﬁ’{@a‘ﬁ wﬁzﬁaﬁwﬁﬂm
% o R 91X et ser T ¥ 7

(1) ™E a5 Tehar
(2) e @/ RIS
(3) STRST & TehaT

— W B IR AT

92. From the following information, identify the firm having least liquidity :-
(1) Current ratio : 2.2 and Qu1ck ratio : 1.6 ‘
(2) Current ratio : 2.2 and Quick ratio : 1.3
(3) Current ratio : 1.2 and Quick ratio : 0.6
(4) Current ratio : 1.2 and Quick ratio : 0.8 '
ﬁﬁrwwcm{r@%H@rEmWaTaﬁq;ﬁa%Waﬁ

() Y e : 229 @Ra e 16
%@a@m : 229 @Ra. orgur -
A3 = eigu ;1.2 907 @R orgae < 0.6
(4) a@aﬁmﬁ : 1.2 R @R ST 0.8
93. If the price of any commodlty decreases by 20% and th
- increases by 40%, then clasticity of demand would be -
(1) Unit elastl_c. s A +© (2) Highly elastic -

" (3) Poorly elastic ‘ (4) None of the above '
AR e e (aeg) W B 20% B A o | 7
"“,ﬁaaaﬁﬁ%laamaﬁaha@vﬁ %Wwaﬁﬁwmﬁ

- _-»A(l) THE e | -0) 3= A 20
AP -(3)géi'aes'nam LB (4)Gqﬁzﬁaaa%g_‘_ﬁﬁ
MPH/PHD/URS EE-2019/(Commerce)(SET-Z)/(D)

e demand of that cbmmodity |
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94. Dcbt-Equity mix in caplt

() M&Mm approach

27

al structure is relevant according to which of the following
approach ?

(1) Net Income Approach '_ (2) Net Operating Income .Ap‘proalch

(4) None of the above

Tﬁmﬁwwﬁwﬁmﬁmﬁﬁ%ﬁmg&ﬁw%aﬁaﬂ
SRR B 7 - e

(1) g= o1 ghemor #éjg@qﬁamnamgﬁ%ﬁw
_3yen o uH gl (4) ST H A FHIg el
95. Low geared company will not expose to which of the following risk ? -
(1) Businessrisk - (2) Operating risk
(3) Inflation risk - (4) Financial risk
& g e Frefafaa sifes # & feas avqe § 987 el 7
(1) =9 SR . Ay IR St '
(3) gaTEhifeT T @?ﬂ%m 4) ﬁ'l?ﬁ'q Gﬁfém |
96. Cash flows arising from the transactions in a bank should be classified as rcsultmg
from :
(1) Financing activities I ) Invcsting activities
(3) Operatlng activities (4) None of the above .
%ﬁﬁ%ﬁm@ﬁa@ﬁmaﬁmmmﬁ%_@g
(1) ERip nﬁrﬁfﬁm ferasi zﬁﬁﬁﬁm R -
(3)urﬁara=rvn%®f€m' @) TR A @
In case of admission of a partner the entry for unrecorded investment W111 be

97.

(1) Dr. Revaluation A/c and Cr. Investment Alc
(2) Dr. Investment A/c and Cr. Revaluation A/c

"~ (3) Dr. Partners' Capital A/c and Cr. Investment A/c
(4) None of the above

@ﬂnﬂm%qasT%mﬁﬁﬁmﬁ%mﬁsqmﬁ@maﬁqﬁrﬁzéﬁvﬁ
SHT_TAST ]
(1) ICR GEeich @il QF Srea] FReT @ »

_«GT%W%%&T@W@WWW@W

(MWW@@W@T@W%&QT@W
+(4) ST W @ B e

\

-MPH/PHD/URS-EE-2019/(Comn1erce)(SET-Z)/(D) el P.T.O.
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98. Grouping of activities on the basis of product lines is a part of :

(1) Divisional orgeﬁisation ' (2) Functional organisation

(3) Autonomous organisation' .. (4) Group organisation

mm%wwnﬁﬁmwa@m@m%:

(1) Eo9rfT dwes & : (2)av-rqi—qzﬁwa=r$r
Q) @ W B _ e W
99. Under which of the following training methods, employees are tramed on the dummy
" model : ' '
(1) Induction training | (2) Internship treining
3) Apprenticeship training | (4) Vestibule training .
Wﬁﬁmmm%ﬁmﬁﬁmwmm
ST % 7 . |
W et ) -c';z:ﬁsm wfRreror
@) fmger sREET (@) e i
100 Which of the following is a method of direct marketing ?
(1) Fliers ‘

(2) Phone calls

4) Ali of the above
Frafafad & & H-@ ger Boes % o {Ry © o

ORSIEE (2) B P
(3) 7o W SR

(3 ) Text messages

| MPH/PHD/URS-EE-ZO19/(Commerce)(SET-Z)/(D)
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